
IMPORTANT INSTRUCTIONS
1. This Question Booklet is divided into three Parts–Part–I, Part–II and Part–III. Part–I contains questions of

Language (Qualifying), Part–II contains questions of General Studies and Part–III contains questions of
Computer.

2. Part–I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part–I, English Language consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
Language  consists of Question Nos. U-9 to U-30 and Bengali Language consists of Question Nos. B-9 to B-30
(Students are required to choose the questions from any one language out of three languages). Part-II consists
of Question Nos. 31 to 70 and Part–III consists of Question Nos. 71 to 150. (the questions and their responses
are printed in English and Hindi versions both of Part–II and Part–III)

3. All questions carry equal marks.
4. An Answer Sheet has been supplied inside the question booklet to mark the answers. You must write your Roll

Number and other particulars in the space provided in the Answer Sheet, failing which your Answer Sheet will
not be evaluated.

5. Immediately after commencement of the examination, you should check up your Question Booklet and
attached answer sheet and ensure that the Question Booklet Series is printed on the top right - hand corner of
the Booklet and the series encoded in answer sheet are same. Also please check that the Booklet contains 48
printed pages including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing
or unprinted or torn or repeated or question booklet and answer sheet have different series. If you find any
defect in this Booklet, get it replaced immediately by a complete Booklet with OMR sheet of the same series.

6. You must write your Roll Number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

7. Each question comprises of Five responses–(A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

8. In the Answer Sheet, there are Five circles–  A  ,  B  ,  C  , D  and  E  against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated as wrong. Use Black/Blue ink ballpoint pen only to
mark the answer in the Answer Sheet. Any erasure or change is not allowed.

9. If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi versions of the
questions, the English version will be treated as standard.

10. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

12. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART - I
(English Language)

E-4. She became a drug addict because of
(A) a bad company she had
(B) her loneliness
(C) loosing interest in study
(D) More than one of the above
(E) None of the above

E-5. The moral of the story is
(A) Children should be treated properly
(B) Children’s mistakes deserve sympathy
(C) Parenting is an important issue
(D) More than one of the above
(E) None of the above

E-6. If 14th June is Friday, what will be 22nd June?
(A) Sunday
(B) Saturday
(C) Friday
(D) More than one of the above
(E) None of the above

Directions (Q.No. E-7 and E-8) : Fill in the blanks
with suitable articles like ‘a’, ‘an’ and ‘the’ :

E-7. He became —— M.P. last year.
(A) the
(B) an
(C) a
(D) More than one of the above
(E) None of the above

E-8. He lives in ——— Punjab, a state of India.
(A) a
(B) an
(C) the
(D) More than one of the above
(E) None of the above

Directions (Q.No. E-1 to E-5) : Read the passage
given below and answer the questions that follow:

Raveena’s father was a very strict man. Whenever
she made a mistake he punished her badly. Later on
when she was hurt physically due to having
punishment, she turned to food for comfort. As a
result of overeating, she put on extra weight. She
could not enjoy her childhood in any school  as she
was often body shamed for her extra weight. She
stopped going outside and thus felt lonely. At college,
she fell into a bad company and became a drug
addict. She was sent to a rehabilitation centre. And
for this  development, her parents started blaming
each other.

E-1. Raveena’s father was a/an
(A) strict man
(B) man of severe discipline
(C) insensitive person
(D) More than one of the above
(E) None of the above

E-2. Raveena put on weight as
(A) she lost appetite
(B) she felt more appetite
(C) she found comfort in food
(D) More than one of the above
(E) None of the above

E-3. She avoided to go to school as
(A) she was always feeling hungry
(B) she felt Walking troublesome
(C) she was often body shamed
(D) More than one of the above
(E) None of the above
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(Hindi Language)

{ZX}e : (àíZ g§»¶m {ZX}e : (àíZ g§»¶m {ZX}e : (àíZ g§»¶m {ZX}e : (àíZ g§»¶m {ZX}e : (àíZ g§»¶m H-9 go  go  go  go  go H-18 VH$) : VH$) : VH$) : VH$) : VH$) : {ZåZ{b{IV
An{R>V JÚm§em| H$mo Ü¶mZnyd©H$ n{‹T>E Am¡a {XE JE àíZm§o Ho$ ghr
{dH$ën MwZH$a CÎma-nÌH$ ‘§o {MpÝhV H$s{OE&

JÚm§e - JÚm§e - JÚm§e - JÚm§e - JÚm§e - 1
‘hmXodr d‘m© H$s nr‹S>m ‘ram~mB© H$s EoH$m§{VH$ nr‹S>m Zht h¡, ~pëH$
CZH$s nr‹S>m eVmpãX¶m| go g‘mO Ho$ {Z‘©‘ à{V~§Ym| ‘| OH$‹S>r hþB© Zmar
Om{V H$s nr‹S>m h¡& ‘hmXodr H$m  gm{hË¶ aMZmË‘H$ H$ê$Um Ho$ ̂ md go
^am hþAm h¡& CZHo$ ì¶mdhm[aH$ OrdZ H$s aMZmË‘H$ H$ê$Um go
CZHo$ H$mì¶ H$mo AbJ Zht {H$¶m Om gH$Vm h¡& CZH$s doXZm H$mo Cg
H$ê$Um Ho$ gmW Omo‹S>Zm hmoJm Omo Zm[a¶m| H$s nadeVm, emo{fVm| H$s
{ddeVm Am¡a X{bVm| H$s Aghm¶mdñWm na ’y$Q> n‹S>Vr h¡& ‘hmXodr
H$s nr‹S>m ì¶{º$ H$s g§H$sU© gr‘m go {ZH$bH$a g‘mO {H$ {dñV¥V
gr‘m na N>mB© hþB© h¡& ‘hmXodr d‘m© H$s {deofVm ¶h h¡ H$s N>m¶mdmX Zo
ì¶{º$ Am¡a g‘mO H$s {Og ì¶mnH$ Ag§Vmof ̂ mdZm H$mo A{^ì¶{º$
Xr Cg‘§o CÝhm|Zo ̂ maVr¶ Zmar Ho$ Ag§Vmof, {Zamem Am¡a AmH$m§jm H$m
ñda ̂ r Omo‹S> {X¶m&

H-9. ‘hmXodr d‘m© H$s nr‹S>m H¡$gr h¡?
(A) dh EoH$m§{VH$ nr‹S>m Zht h¡
(B) dh g‘mO Ho$ {Z‘©‘ à{V~§Ym| ‘| OH$‹S>r Zmar Om{V

H$s nr‹S>m h¡
(C) ‘hmXodr H$s nr‹S>m ‘ram~mB© H$s Vah h¡
(D) Cn¶w©º$ ‘| go EH$ go A{YH$
(E) Cn¶w©º$ ‘| go H$moB© Zht

H-10. ‘hmXodr d‘m© H$m gm{hË¶ H¡$gm h¡?
(A) aMZmË‘H$ H$ê$Um Ho$ ̂ md go ̂ anya
(B) l§§¥Jma dU©Z go ̂ anya
(C) g‘mO Ho$ à{V AZwXma
(D) Cn¶w©º$ ‘| go EH$ go A{YH$
(E) Cn¶w©º$ ‘| go H$moB© Zht

H-11. CZHo$ H$mì¶ H$mo {H$ggo AbJ Zht {H$¶m Om gH$Vm?
(A) CZHo$ {ZOr OrdZ Ho$ AZŵ d go
(B) CZHo$ OrdZ g§JrV go
(C) CZHo$ ì¶mdhm[aH$ OrdZ H$s aMZmË‘H$ H$ê$Um

go
(D) Cn¶w©º$ ‘| go EH$ go A{YH$
(E) Cn¶w©º$ ‘| go H$moB© Zht

H-12. h‘§o CZH$s doXZm H$mo ³¶m H$aZm hmoJm?

(A) Zm[a¶m| H$s nadeVm go CËnÞ H$ê$Um go Omo‹S>Zm
hmoJm

(B) emo{fVm| H$s {ddeVm go CËnÞ H$ê$Um go Omo‹S>Zm
hmoJm

(C) X{bVm| H$s Aghm¶mdñWm go ’y$Q>r H$ê$Um go
Omo‹S>Zm hmoJm

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-13. ‘hmXodr d‘m© H$s {deofVm ³¶m h¡?

(A) àH¥${V {MÌU

(B) dmËgë¶-dU©Z

(C) Zmar H$m gm¡ÝX¶© dU©Z

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

JÚm§e - JÚm§e - JÚm§e - JÚm§e - JÚm§e - 2
Bg g§gma ‘| YZ hr g~ Hw$N> Zht h¡& YZ H$s nyOm Vmo ~hþV H$‘ OJhm|
‘| hmoVr XoIr JB© h¡& g§gma H$m B{Vhmg CR>mH$a Xo{IE Am¡a CXmhaU
Ty>±‹T>-T>±y‹T>H$a gm‘Zo a{IE, Vmo h‘| nVm Mb Om¶Jm {H$ {OZH$s h‘
CnmgZm H$aVo h¢, {OZHo$ {bE  h‘ Am±I| {~N>mE ahVo h¢, {OZHo$
ñ‘maH$ ~ZmVo h¢, CZ bmoJm| Zo H$^r ̂ r ê$n¶m H$‘mZo ‘| AnZm g‘¶
Zht {~Vm¶m& CZHo$ Ûmam {H$E JE H$m¶m] H$m ‘yë¶ ê$n¶o Ho$ ‘yë¶ go
A{YH$ h¡& {OZ bmoJm| Ho$ OrdZ H$m CÔoí¶ {g’©$ ê$n¶o ~Q>moaZm h¡,
CZH$s à{Vð>m H$‘ hþB© h¡& bmoJm| Zo CZH$s AZXoIr H$s h¡& ‘mZd
g‘mO ñdmWu Adí¶ h¡, na dh ñdmW© H$s CnmgZm H$aZm Zht OmZVm&
>>

H-14. g§gma ‘| H¡$go bmoJm| H$s nyOm hmoVr h¡?

(A) {OZ bmoJm| Zo ê$n¶m H$‘mZo ‘| AnZm g‘¶ Zht
{~Vm¶m&

(B) {OZ bmoJm| Zo YZ H$‘mZo ‘| AnZm g‘¶ {~Vm¶m

(C) {OZHo$ {bE YZ hr g~ Hw$N> h¡

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

{DBF 9}
{DBF 10}
{DBF 11}
{DBF 12}
{DBF 13}
{DBF 14}
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H-15. na‘mWu ì¶{º$¶m| Ho$ Ûmam {H$E JE H$m¶m] H$m ‘yë¶ {H$gHo$
‘yë¶ go A{YH$ h¡?

(A) g‘¶ Ho$ ‘yë¶ go

(B) ê$n¶o Ho$ ‘yë¶ go

(C) H$mJO Ho$ ‘yë¶ go

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-16. {g’©$ ê$n¶o ~Q>moaZo dmbo bmoJm| Ho$ OrdZ H$m hmb ³¶m
hmoVm  h¡?

(A) CZH$s à{Vð>m ~‹T>Vr h¡>

(B) CZH$s nyOm hmoVr h¡

(C) CZH$m ñ‘maH$ ~Zm¶m OmVm h¡

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-17. ‘mZd g‘mO H¡$gm h¡?

(A) ‘mZd g‘mO ñdmWu h¡

(B) dh ñdmW© H$s CnmgZm H$aZm Zht OmZVm

(C) dh namonH$mar Zht hmoVm

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-18. g§gma H$m B{Vhmg CR>mH$a XoIZo go ³¶m nVm MbVm h¡?

(A) {OZHo$ à{V h‘mar lÕm h¡, CÝhm|Zo ê$n¶m Zht
H$‘m¶m

(B) CZHo$ H$m¶m] H$m ‘yë¶ ê$n¶o go A{YH$ h¡

(C) Eogo bmoJm| H$mo h‘ bmoJ H$^r Zht ̂ ybVo

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-19. "A{VH$mb' ‘| CngJ© h¡ -

(A) An

(B) Cn

(C) A{V

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-20. "JmZodmbm' ‘| àË¶¶ h¡ -

(A) dmbm

(B) B¶m

(C) hma

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-21. "A{Va§OZ' eãX H$m {deofU ê$n h¡ -

(A) A{Va§OH$

(B) A{Va§OZH$mar

(C) A{Va§{OV

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-22. "M‘H$Zm' {H«$¶m H$m g§km ê$n h¡ -

(A) M‘H$

(B) M‘H$sbm

(C) M‘H$sZ

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

{DBF 15}
{DBF 16}
{DBF 17}
{DBF 18}
{DBF 19}
{DBF 20}
{DBF 21}
{DBF 22}
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H-23. "‘hmdra' eãX H$m¡Z-gm g‘mg h¡?

(A) A{YH$aU VËnwê$f

(B) H$‘©Yma¶ VËnwê$f

(C) gå~§Y VËnwê$f

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-24. "VyVr ~mobZm' ‘whmdao H$m AW© h¡ -

(A) e{‘ªXm hmoZm

(B) An‘mZ OZH$ ~mV H$hZm

(C) à^md O‘mZm

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-25. "ZmM Z OmZo Am±JZ Q>o‹T>>' H$m AW© h¡ -

(A) H$m‘ Z OmZZm Am¡a ~hmZm ~ZmZm

(B) {H$gr {Oå‘oXmar H$m Z hmoZm

(C) JwU Ho$ {dê$Õ Zm‘ hmoZm

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-26. "Vmbm~' eãX H$m¡Z-gm qbJ h¡?

(A) órqbJ

(B) nwqbJ

(C) C^¶ qbJ

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-27. {ZåZ{b{IV ‘§o ewÕ eãX h¡ -

(A) qgXÿa

(B) gm‘«mÁ¶

(C) {haÊ¶H$í¶nw

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-28. {hÝXr ‘| ñdadUm] H$s g§»¶m h¡ -

(A) AmR>

(B) Xg

(C) ½¶mah

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-29. "{Zînmn' H$m g§{Y: {dÀN>oX h¡ -

(A) {Z: + nmn

(B) {Za² + nmn

(C) {Za + nmn

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

H-30. {ZåZ{b{IV ‘| Om{V dmMH$ g§km h¡ -

(A) nwñVH$

(B) H$b‘

(C) ŷH§$n

(D) Cn¶w©º$ ‘| go EH$ go A{YH$
(E) Cn¶w©º$ ‘| go H$moB© Zht

{DBF 23}
{DBF 24}
{DBF 25}
{DBF 26}
{DBF 27}
{DBF 28}
{DBF 29}
{DBF 30}


 U-18U-9 






 1934 









 .U-9

 (A)

 (B)

 (C)
 (D)
 (E)

 .U-10

 (A)

 (B)

 (C)
 (D)
 (E)

 .U-11

 (A)

 (B)

 (C)
 (D)
 (E)

 .U-12

 (A)

 (B)

 (C)
 (D)
 (E)

 .U-13

 (A)

 (B)

 (C)
 (D)
 (E)


 30  




 
 - 

 
 

 
 






 




  






 


 .U-14

 (A)

 (B)

 (C)

 (D)

 (E)

(Urdu Language)
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 


 .U-15

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-16

 (A)

 


 (B)

 (C)

 (D)

 (E)

 


 .U-17

 (A)







 (B)

 (C)

 (D)

 (E)

 .U-18

 (A)

 (B)

 


 (C)

 (D)

 (E)

 .U-19

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-20


 (A)

 (B)

 (C)

 (D)

 (E)






 .U-21

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-22


 (A)

 (B)

 (C)

 (D)

 (E)
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 .U-23

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-24

 (A)

 (B)

 (C)

 (D)

 (E)

 
 .U-25

 (A)

 (B)

 (C)

 (D)

 (E)

  .U-26

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-27

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-28

  (A)

 (B)

 (C)

 (D)

 (E)

 

 

 .U-29

 (A)

 (B)





(C)

 (D)

 (E)

 .U-30


 (A)

 (B)

 (C)

 (D)

 (E)
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!löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy !löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy !löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy !löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy !löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy B-9 öíöì†þ öíöì†þ öíöì†þ öíöì†þ öíöì†þ B-18Š Š Š Š Š :
!lÁ¬!¡!‡•þ xl%öìFSé˜ ˜%¥z!Øþ þ›y‘þ †þöìîû !löì‹þ ö˜Gëûy!lÁ¬!¡!‡•þ xl%öìFSé˜ ˜%¥z!Øþ þ›y‘þ †þöìîû !löì‹þ ö˜Gëûy!lÁ¬!¡!‡•þ xl%öìFSé˜ ˜%¥z!Øþ þ›y‘þ †þöìîû !löì‹þ ö˜Gëûy!lÁ¬!¡!‡•þ xl%öìFSé˜ ˜%¥z!Øþ þ›y‘þ †þöìîû !löì‹þ ö˜Gëûy!lÁ¬!¡!‡•þ xl%öìFSé˜ ˜%¥z!Øþ þ›y‘þ †þöìîû !löì‹þ ö˜Gëûy
î¥ % !î†þÒ#ë û ²ÌÙÀ=!¡îû ¤!‘þ†þ ’þ z_î û !lî Å y‹ þlî¥% !î†þÒ#ë û ²ÌÙÀ=!¡îû ¤!‘þ†þ ’þ z_î û !lî Å y‹ þlî¥% !î†þÒ#ë û ²ÌÙÀ=!¡îû ¤!‘þ†þ ’þ z_î û !lî Å y‹ þlî¥% !î†þÒ#ë û ²ÌÙÀ=!¡îû ¤!‘þ†þ ’þ z_î û !lî Å y‹ þlî¥% !î†þÒ#ë û ²ÌÙÀ=!¡îû ¤!‘þ†þ ’þ z_î û !lî Å y‹ þl
†þö ìî û yÐ†þö ìî û yÐ†þö ìî û yÐ†þö ìî û yÐ†þö ìî û yÐ

xl%ö ìFSé˜éŸ é1xl%ö ìFSé˜éŸ é1xl%ö ìFSé˜éŸ é1xl%ö ìFSé˜éŸ é1xl%ö ìFSé˜éŸ é1

òò²Ìy‹þ#l èþyîû•þ#ëû xy¡‚†þy!îû†þöì˜îû ôöì•þ ôyl%öì£ìîû ôöìlîû
ßiyëû# èþyî=!¡îû ¤‚‡Äy 9!Øþ Œîû!•þ– ¥y¤– ö¢y†þ– öe«y™–
’þzê¤y¥– èþëû– ?%=°y– !îß¿ëû G †þyôŠÐ !îèþyî– xl%èþyî G
¤Méþyîû# èþyöìîîû ¤öìD ~¥z ¤ôhßì 9!Øþ ßiyëû# èþyöìîîû ¤‚öìëyˆ
‰Øþöì¡ •þ‡l •þy öíöì†þ 9!Øþ îûöì¤îû Œ¢,Dyîû– ¥y¤Ä– †þîû&”–
öîûïo– î#îû– èþëûyl†þ– î#èþê¤– xq$•þ ~î‚ ¢yhsýŠ ¤,!ÜT ¥ëûÐ
!†þv öˆï’þü#ëû ÷î£kî xy¡‚†þy!îû†þˆ” ~¥z þ›„y‹þ ²Ì†þyöìîûîû
îûöì¤îû †þíy îöì¡léŸŸŸé¢yhsý– ˜y¤Ä– ¤‡Ä– îyê¤¡Ä G ô™%îû îy
¢,DyîûÐ ²Ìy‹þ#l èþyîû•þ#ëû xy¡‚†þy!îû†þöì˜îû ô•þ îû!•þ lyô†þ
ßiyëû# èþyî¥z ö¢£ìþ›ëÅhsý ¢,Dyîû îy ô™%îû îûöì¤ þ›!îû”•þ ¥ëûÐ
÷î£kî xy¡‚†þy!îûöì†þîûy ôöìl †þöìîûl öë– îû!•þéŸéèþyîöì†þ
Ö™%ôye îû!•þéŸéèþyî ly îöì¡ î¡y ’þz!‹þ•þ ò†,þ£kîû!•þóÐ †,þ£kîû!•þ
!¤m* ¥öì¡ •þy ¢,Dyîû îûöì¤ þ›!îû”•þ ly ¥öìëû þ›!îû”•þ ¥ëû
èþ!_«îûöì¤Ðóó

B-9. ôyl%öì£ìîû ôöìlîû ßiyëû# èþyî †þëû!ØþÚ

(A) ¤y•þ!Øþ

(B) xyØþ!Øþ

(C) lëû!Øþ

(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-10. ôöìlîû ßiyëû# èþyî ö†þyl!ØþÚ

(A) ¢,Dyîû

(B) ¥y¤

(C) ¥y¤Ä

(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-11. !îèþyî– xl%èþyî G ¤Méþyîû# èþyöìîîû ¤öìD ö†þyl
èþyöìîîû ¤‚öìëyˆ ‰Øþöì¡ îûöì¤îû ¤,!ÜT ¥ëûÚ
(A) îû!•þ èþyî
(B) ßiyëû# èþyî
(C) !îß¿ëû èþyî
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-12. öˆï’þü#ëû ÷î£kî xy¡‚†þy!îû†þöì˜îû ôöì•þ îûöì¤îû
¤‚‡Äy †þëû!ØþÚ
(A) ˜¢!Øþ
(B) þ›„y‹þ!Øþ
(C) ¤y•þ!Øþ
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-13. îû!•þ lyô†þ ßiyëû# èþyî ö¢£ìþ›ëÅhsý ö†þyl îûöì¤
þ›!îû”•þ ¥ëûÚ
(A) ¢,Dyîû îû¤
(B) ô™%îû îû¤
(C) ¥y¤Ä îû¤
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

xl%ö ìFSé˜éŸ é2xl%ö ìFSé˜éŸ é2xl%ö ìFSé˜éŸ é2xl%ö ìFSé˜éŸ é2xl%ö ìFSé˜éŸ é2
òò¡îØ%þ!¡ëûyîû ’þz_îû þ²Ìyöìhsý ‡%î î’þü ~†þØþy ¥Éöì˜îû ô•þÐ
~îû†þô ?¡y¢ëûöì†þ ~öì˜öì¢ îöì¡ †%þ[þ#Ð ~¥z ¥É˜Øþyîû lyô
¤îûßº•þ# †%þ[þ#Ð ¤îûßº•þ# †%þ[þ#îû þ›yöì’þüîû !•þl!˜öì†þ !l!î’þü
îlÐ ~ ™îûöìlîû îl xyôyöì˜îû ô¥y¡ îy ¡îØ%þ!¡ëûyöì•þ ly¥zÐ
~ îöìl î’þü î’þü îlß›!•þöì˜îû !l!î’þü ¤ôyöìî¢éŸŸŸé?öì¡îû
¤y!§¬™Ä î¢•þ¥z ö¥y†þ îy öë ?lÄ ö¥y†þ– îöìlîû •þ¡öì˜öì¢
lyly !î!‹þe ¡•þyþ›y•þy– îlÄþ›%öìÜ›îû !èþ’þüÐ ~¥z îl !î¢y¡
¤îûßº•þ# †%þ[þ#îû l#¡ ?¡öì†þ !•þl!˜öì†þ x™Å‹þwy†þyöìîû !‰!îûëûy

(Bengali Language)

{DBF B-9}
{DBF B-10}
{DBF B-11}
{DBF B-12}
{DBF B-13}
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îûy!‡ëûyöìSé– ~†þ!˜öì†þ æþ„y†þyéŸŸŸéö¤‡yl ¥¥zöì•þ þ›)îÅ!˜öì†þ î¥%˜)îû
²Ì¤y!îû•þ l#¡ xy†þy¢ G ˜)öìîûîû ÷¢¡ôy¡y ö‹þyöì‡ þ›öì’þüÐ
¤%•þîûy‚ þ›)îÅéŸéþ›!Ù‹þô ö†þyöì”îû •þ#öìîûîû ö†þyl ~†þ ?yëûˆyëû
î!¤ëûy ˜!Çþ” G îyô !˜öì†þ ‹þy!¥ëûy ö˜!‡öì¡ ¤îûßº•þ# †%þ[þ#îû
ö¤ïr˜öìëÅîû xþ›)îÅ•þy !‘þ†þ öîyVþy ëyëûÐóó

B-14. †%þ[þ# †þyöì†þ îöì¡Ú
(A) î’þü ¥É˜
(B) ?¡y¢ëû
(C) l˜#
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-15. ¡îØ%þ!¡ëûyîû ’þz_îû ²Ìyöìhsýîû î’þü ¥É˜Øþyîû lyô †þ#Ú
(A) ¤îûßº•þ# †%þ[þ#
(B) ¡îØ%þ!¡ëûy †%þ[þ#
(C) ¡-# †%þ[þ#
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-16. ¤îûßº•þ# †%þ[þ#îû ‹þyîûþ›yöì¢ !î!‹þe ¡•þyþ›y•þy G
îlÄþ›%öìÜ›îû !èþ’þü ¥Gëûyîû †þyîû” †þ#Ú
(A) ?öì¡îû ¤y!§¬™Ä
(B) ?lî¤!•þîû ¤y!§¬™Ä
(C) ?öì¡îû xèþyî
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-17. ¤îûßº•þ# †%þ[þ#îû !•þl!˜†þ !†þöì¤îû myîûy ö‰îûyÚ
(A) îy!’þü
(B) îl
(C) ö˜y†þyl
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-18. òx™Å‹þwó ¢·!Øþîû xíÅ †þ#Ú

(A) þ›)!”Åôy

(B) xôyî¤Äy

(C) xöì™Å†þ ‹„þy˜

(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

!löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy !löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy !löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy !löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy !löì˜Å¢ Œ²ÌÙÀ ¤‚‡Äy B-19 öíöì†þ öíöì†þ öíöì†þ öíöì†þ öíöì†þ B-30Š Š Š Š Š :
²Ìöì•þÄ†þ!Øþ îà !î†þÒ#ëû ²ÌöìÙÀîû ¤!‘þ†þ ’þz_îû !lîÅy‹þl²Ìöì•þÄ†þ!Øþ îà !î†þÒ#ëû ²ÌöìÙÀîû ¤!‘þ†þ ’þz_îû !lîÅy‹þl²Ìöì•þÄ†þ!Øþ îà !î†þÒ#ëû ²ÌöìÙÀîû ¤!‘þ†þ ’þz_îû !lîÅy‹þl²Ìöì•þÄ†þ!Øþ îà !î†þÒ#ëû ²ÌöìÙÀîû ¤!‘þ†þ ’þz_îû !lîÅy‹þl²Ìöì•þÄ†þ!Øþ îà !î†þÒ#ëû ²ÌöìÙÀîû ¤!‘þ†þ ’þz_îû !lîÅy‹þl
†þö ìî û yÐ†þö ìî û yÐ†þö ìî û yÐ†þö ìî û yÐ†þö ìî û yÐ

B-19. !ë!l ˆ”Ä !•þ!l¥z ôylÄ = ˆ”ÄôylÄÐ ö†þyl ¤ôy¤Ú

(A) †þôÅ™yîûëû ¤ôy¤

(B) •þêþ›%îû&£ì ¤ôy¤

(C) !m= ¤ôy¤

(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-20. ò!ôíÄy †þíy öîyöì¡y lyó éŸŸŸé !e«ëûyîû ö†þyl †þy¡Ú

(A) þ›%îûy‰!Øþ•þ î•Åþôyl

(B) ‰Øþôyl î•Åþôyl

(C) î•Åþôyl xl%Kþy

(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-21. òSéy˜ !˜öìëû ~‡öìly †þ# ?¡ VþöìîûóÚ éŸŸŸé òSéy˜ !˜öìëûó
ö†þyl †þyîû†þÚ

(A) †þôÅ†þyîû†þ

(B) xþ›y˜yl †þyîû†þ

(C) †þîû” †þyîû†þ

(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

{DBF B-14}
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B-22. öë îy ëyîûy ßºëû‚ ö†þyöìly !e«ëûy ¤Á›y˜l †þöìîû
•þyöì†þ îy •þyöì˜îûöì†þ ö†þyl †þyîû†þ îöì¡Ú
(A) †þ•,þÅ†þyîû†þ
(B) †þôÅ†þyîû†þ
(C) ¤Á±˜yl †þyîû†þ
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-23. òîûy÷ì?Ù»ëÅó éŸŸŸé ¤!¦þ !îöìFSé˜ ö†þyl!ØþÚ
(A) îûy? + úÙ»ëÅ
(B) îûy÷ì? + Ù‹þëÅ
(C) îûy? + Ù‹þëÅ
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-24. ˆDy + ö£këû = ˆyöìDëûÐ ~‡yöìl ²Ì•þÄëû ö†þyl!ØþÚ
(A) ˆDy
(B) ö£këû
(C) ˆyöìDëû
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-25. ò†þyîû‡ylyó ¢·!Øþöì•þ ö†þyl ’þzþ›¤öìˆÅîû ²Ìöìëûyˆ
¥öìëûöìSéÚ
(A) ‡yly
(B) †þyîû
(C) îˆ
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-26. ‡„y!Øþ îy‚¡y î¡öì•þ ö†þyl ¢·öì†þ öîyVþyëûÚ
(A) •þê¤ô
(B) x™ÅéŸé•þê¤ô
(C) •þqî
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-27. ö•þyôyîû ~¥z î¦%þc ö•þy îy!¡îû î„y™– x!‹þöìîû¥z
™çöì¤ ëyöìî éŸŸŸé öîû‡y!Bþ•þ x‚öì¢îû ¤!‘þ†þ xíÅ
ö†þyl!ØþÚ
(A) îÄ!_«c¥#l îÄ!_«
(B) Çþ”ßiyëû# îÄîßiy
(C) ‡%î e%«m* ¥Gëûy
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-28. ò?#!î•þ xyöìSé ~ôló éŸŸŸé ~†þ†þíyëû ²Ì†þy¢ †þîûÐ
(A) ?#îhsý
(B) ?#!î•þ
(C) ?#îl
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-29. òöSéöì¡!Øþ î%!m*ôyl !†þv x¡¤óéŸŸŸéö†þylä ™îûöìlîû
îy†þÄÚ
(A) ?!Øþ¡ îy†þÄ
(B) ¤îû¡ îy†þÄ
(C) öëï!ˆ†þ îy†þÄ
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-30. xöìíÅîû =îû&c öîyVþyîyîû ?lÄ ¢·ô™Äßi î”Åöì†þ
!mc †þöìîû ’þzF‹þyîû” †þîûîyîû îû#!•þöì†þ †þ# îöì¡Ú
(A) î”Å!mc
(B) î”Åöì¡yþ›
(C) î”Åyˆô
(D) ’þzþ›öìîûy_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ
(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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31. The area of a circle is 36. If it is divided into
six equal parts, then what should be length of
arc of each part?
(A) 
(B) 2
(C) 4
(D) More than one of the above
(E) None of the above

32. If 2x y
y x
   then what is the value of

2 2

2
x y
xy y

 
 

 
?

(A) 0 (zero)
(B) 1/4
(C) 1
(D) More than one of the above
(E) None of the above

33. If 20% of (x + y) is equal to 50% of (x – y),
what is (x : y) ?
(A) 7 : 3
(B) 3 : 7
(C) 7 : 5
(D) More than one of the above
(E) None of the above

34. While selling a watch a shopkeeper gives a
discount of 5% on its marked price. If he gives
a discount of 10%, then he earns ̀ 25 loss as
profit. What is the marked price of the watch?
(A) `700
(B) `500
(C) `300
(D) More than one of the above
(E) None of the above

35. A student got twice as many questions wrong
as he got right. If he attempted 48 questions
in all, what is the number of questions solved
by him correctly?
(A) 24
(B) 16
(C) 12
(D) More than one of the above
(E) None of the above

36. If (x2 – 3x + 2) is a factor of (x4 – Px2 + Q)
then what are the values of P and Q
respectively?
(A) 5, 4
(B) – 5, 4
(C) 5, – 4
(D) More than one of the above
(E) None of the above

37. If the circumference of a circle is reduced by
50%, then what will be percentage reduction
in its area?
(A) 50
(B) 60
(C) 75
(D) More than one of the above
(E) None of the above

38. If 1.5 P = 0.04Q, then what is the value of

Q P
Q + P

 
 
 

?

(A)
73
77

(B)
77
33

(C)
22
75

(D) More than one of the above
(E) None of the above

PART - II
(GENERAL STUDIES)
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31. EH$ d¥Îm H$m joÌ’$b 36 h¡& ¶{X BgH$mo N>: ~am~a ̂ mJm|
‘| ~m§Q>m OmVm h¡ Vmo BgHo$ àË¶oH$ ̂ mJ H$s Mmn {H$VZr hmoZr
Mm{h¶o?
(A) 
(B) 2
(C) 4
(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

32. ¶{X 2x y
y x
   Vmo 

2 2

2
x y
xy y

 
 

 
 H$m ‘mZ ³¶m h¡?

(A) 0 (eyÝ¶)
(B) 1/4
(C) 1
(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

33. ¶{X (x + y) H$m 20%, (x – y) Ho$ 50% Ho$ ~am~a h¡
Vmo (x : y) ³¶m h¡?
(A) 7 : 3
(B) 3 : 7
(C) 7 : 5
(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

34. EH$ K‹S>r H$mo ~oMVo g‘¶ EH$ XþH$mZXma CgHo$ A§{H$V ‘yë¶
na 5% H$s Ny>Q> XoVm h¡& ¶{X dh 10% H$s Ny>Q> XoVm, Vmo
Cgo bm^ Ho$ ê$n ‘§o `25 H$‘ àmá hmoVo& K‹S>r H$m A§{H$V
‘yë¶ ³¶m h¡?
(A) `700
(B) `500
(C) `300
(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

PART - II
(GENERAL STUDIES)

35. EH$ N>mÌ {OVZo àíZ ghr hb H$aVm h¡ Cggo XmoJwZo JbV
hb H$aVm h¡& ¶{X dh Hw$b 48 àíZm§o H$mo hb H$aVm h¡ Vmo
CgHo$ Ûmam ghr hb {H$¶o J¶o àíZm| H$s g§»¶m ³¶m h¡?
(A) 24
(B) 16
(C) 12
(D) Cn¶w©º$ ‘| go EH$ go A{YH$
(E) Cn¶w©º$ ‘| go H$moB© Zht

36. ¶{X (x2 – 3x + 2), (x4 – Px2 + Q) H$m JwUZI§S h¡
Vmo P Ed§ Q Ho$ H«$‘e : ‘mZ ³¶m h¡?
(A) 5, 4
(B) – 5, 4
(C) 5, – 4
(D) Cn¶w©º$ ‘| go EH$ go A{YH$
(E) Cn¶w©º$ ‘| go H$moB© Zht

37. ¶{X EH$ d¥Îm H$s n[a{Y H$mo 50% H$‘ H$a {X¶m Om¶ Vmo
BgHo$ joÌ’$b ‘§o H$‘r H$s à{VeV²Vm ³¶m hmoJr?
(A) 50
(B) 60
(C) 75
(D) Cn¶w©º$ ‘| go EH$ go A{YH$
(E) Cn¶w©º$ ‘| go H$moB© Zht

38. ¶{X 1.5 P = 0.04Q Vmo 
Q P
Q + P

 
 
 

H$m ‘mZ ³¶m h¡?

(A)
73
77

(B)
77
33

(C)
22
75

(D) Cn¶w©º$ ‘| go EH$ go A{YH$
(E) Cn¶w©º$ ‘| go H$moB© Zht
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39. Virus are essentially made up of

(A) Proteins & Nucleic acid

(B) Proteins & Lipids

(C) Starch, Proteins & Carbohydrates

(D) More than one of the above

(E) None of the above

40. A moving coil galvanometer can be converted
into ammeter by placing

(A) High resistance in series

(B) High resistance in parallel

(C) Low resistance in parallel

(D) More than one of the above

(E) None of the above

41. Twinkling of stars is on account of

(A) Small size of stars

(B) Large distance of stars & fluctuations
in air density

(C) Large distance of stars & air storms

(D) More than one of the above

(E) None of the above

42. Ammonia compound which can sublime on
heating is

(A) (NH4)2SO4

(B) NH4Cl

(C) NH4NO3

(D) More than one of the above

(E) None of the above

43. Which of the following mediums will exhibit
maximum velocity of sound

(A) Water

(B) Air

(C) Steel

(D) More than one of the above

(E) None of the above

44. Which of the following fuels show highest
calorific value?

(A) Diesel

(B) Kerosene

(C) Petrol

(D) More than one of the above

(E) None of the above

45. The penetrating power of X-ray increases with

(A) Increase in intensity

(B) Increase in frequency of X-rays

(C) Increase of pressure in X-ray tube

(D) More than one of the above

(E) None of the above

46. When sun rays enter a glass prism they are

(A) Deviated but not dispersed

(B) Dispersed but not deviated

(C) Both deviated and dispersed

(D) More than one of the above

(E) None of the above
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39 {dfmUw ‘w»¶ ê$n go ~Zo hmoVo h¡ :

(A) àmoQ>rZ Ed§ Ý¶yp³b{¶H$ Aåb go

(B) àmoQ>rZ Ed§ {b{nS> go

(C) ñQ>mM©, àmoQ>rZ Ed§ H$m~m}hmBŚ>oQ> go

(D) Cn¶w©º  ‘o§ go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zhr

40. EH$ MbVr Hw$ÊS>b J¡ëdoZmo‘rQ>a H$mo Ymam‘mnr ‘| ~XbZo Ho$
{bE Omo‹S>m OmVm h¡

(A) loUrH«$‘ ‘| EH$ Cƒ à{VamoY

(B) g‘mZmÝVa H«$‘ ‘| EH$ Cƒ à{VamoY

(C) g‘mZmÝVa H«$‘ ‘| EH$ {ZåZ à{VamoY

(D) Cn¶w©º  ‘o§ go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zhr

41. Vmam| H$m {Q>‘{Q>‘mZo H$m H$maU h¡

(A) Vmam| H$s N>moQ>r AmH¥${V

(B) Vmam| H$s bå~r Xÿar d hdmB© KZËd ‘| ApñWaVm

(C) Vmam| H$s bå~r Xÿar d hdmB© Vy’$mZ

(D) Cn¶w©º  ‘o§ go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zhr

42. J‘© H$aZo na D$Üd©nm{VV hmoZo dmbm A‘mo{Z¶m ¶m¡{JH$ h¡

(A) (NH4)2SO4

(B) NH4Cl

(C) NH4NO3

(D) Cn¶w©º  ‘o§ go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zhr

43. {ZåZ {H$g ‘mÜ¶‘ ‘| Üd{Z doJ gdm}ÀM hmoJm&

(A) Ob

(B) dm¶w

(C) ñQ>rb

(D) Cn¶w©º  ‘o§ go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zhr

44. {ZåZ BªYZm§o ‘| {H$gH$m Cî‘r¶ ‘mZ gdm}ƒ h¡

(A) S>rµOb

(B) Ho$amogrZ

(C) noQ́>mob

(D) Cn¶w©º  ‘o§ go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zhr

45. E³g-ao H$s A§Vd}Yr e{º$ ~‹T>Vr h¡>

(A) VrúUVm ‘| d¥{Õ Ho$ gmW

(B) E³g-ao H$s Amd¥{Îm ‘| d¥{Õ Ho$ gmW

(C) E³g-ao Z{bH$m ‘| Xm~ ‘| d¥{Õ Ho$ gmW

(D) Cn¶w©º  ‘o§ go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zhr

46. O~ gy¶© H$s {H$aU| EH$ ereo Ho$ {àÁ‘ ‘| àdoe H$aVr h¡ V~
do

(A) {dM{bV hmoVr h¡ na àH$s{U©V Zht hmoVr

(B) àH$s{U©V hmoVr h¡ na {dM{bV Zht hmoVr

(C) XmoZm| {dM{bV Ed§ àH$s{U©V hmoVr h¡

(D) Cn¶w©º  ‘o§ go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zhr
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47. In which country the ASEAN India
Grassroots Innovation Forum (AIGIF) was
launched in Nov. 2023?
(A) Vietnam
(B) Malaysia
(C) India
(D) More than one of the above
(E) None of the above

48. In April 2024, Abdel Fattah al-Sisi has been
re-elected for a third six - year term as the
President of which country?
(A) Yemen
(B) Jordan
(C) Egypt
(D) More than one of the above
(E) None of the above

49. Which country has become the first nation to
adopt the ‘Jan Aushadhi Scheme’ of India in
February 2024?
(A) Sri Lanka
(B) Mauritius
(C) Nepal
(D) More than one of the above
(E) None of the above

50. Which countries continue to host the majority
of Afghan refugees globally, providing them
with access to health and education services?
(A) Turkey and Syria
(B) Iran and Pakistan
(C) Lebanon and Egypt
(D) More than one of the above
(E) None of the above

51. Which state government has set up proposals
for the design, development and operation of
India’s first AI City in 2024?
(A) Maharashtra
(B) Kerala
(C) Uttar Pradesh
(D) More than one of the above

(E) None of the above

52. Which company has become the third-largest
silver producer globally according to 2024
World Silver Survey?
(A) Hindustan Zinc Limited
(B) Silver Zinc Limited
(C) Sunrise Zinc Corporation
(D) More than one of the above

(E) None of the above

53. What initiative did India announce at the G20
summit to take ethanol blending with petrol
globally to 20 percent?
(A) Global Climate Action Plan
(B) Green Energy Revolution
(C) Global Biofuel Alliance
(D) More than one of the above

(E) None of the above

54. Which ferry craft was inducted into the Indian
Navy at the end of December 2023?
(A) Manjula
(B) Manohar
(C) Mangal
(D) More than one of the above

(E) None of the above

{DBF 47}
{DBF 48}
{DBF 49}
{DBF 50}
{DBF 51}
{DBF 52}
{DBF 53}
{DBF 54}


1712/MAV/M-2024-16/S-416-I [P.T.O.

47. Zd§~a 2023 ‘| Am{g¶mZ B§{S>¶m J«mgê$Q²>g BZmodoeZ ’$moa‘
(AIGIF) {H$g Xoe ‘§o bm°ÝM {H$¶m J¶m Wm?

(A) {d¶VZm‘

(B) ‘bo{e¶m

(C) ^maV

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

48. Aà¡b 2024 ‘|, AãXob ’$Vh Ab-{ggr H$mo {H$g Xoe
Ho$ amï´>n{V Ho$ ê$n ‘| Vrgao N>h gmb Ho$ H$m¶©H$mb Ho$ {bE
{’$a go MwZm J¶m h¡?

(A) ¶‘Z

(B) Om°S>©Z

(C) {‘ò

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

49. ’$adar 2024 ‘| H$m¡Z-gm Xoe ^maV H$s "OZ Am¡f{Y
¶moOZm' H$mo AnZmZo dmbm nhbm Xoe ~Z J¶m h¡?

(A) lrb§H$m

(B) ‘m°areg

(C) Zonmb

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

50. H$m¡Z-go Xoe d¡pídH$ ñVa na A{YH$m§e A’$JmZ eaUm{W©¶m|
H$s ‘oO~mZr H$aZm Omar aIVo h¢, CÝh| ñdmñÏ¶ Am¡a {ejm
godmAm| VH$ nhþ§M àXmZ H$aVo h¢?

(A) VwH$s© Am¡a gr[a¶m

(B) B©amZ Am¡a nm{H$ñVmZ

(C) bo~ZmZ Am¡a {‘ò

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

51. {H$g amÁ¶ gaH$ma Zo 2024 ‘| ̂ maV Ho$ nhbo AI {gQ>r Ho$
{S>OmBZ, {dH$mg Am¡a g§MmbZ Ho$ {bE àñVmd V¡¶ma {H$E
h¢?

(A) ‘hmamḯ>

(B) Ho$ab

(C) CÎma àXoe

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

52. 2024 {díd aOV gd}jU Ho$ AZwgma H$m¡Z-gr H§$nZr
{díd ñVa na Vrgar g~go ~‹S>r Mm§Xr CËnmXH$ ~Z JB© h¡?

(A) qhXþñVmZ qOH$ {b{‘Q>oS>

(B) {gëda qOH$ {b{‘Q>oS>

(C) gZamBO qOH$ H$m°nm}aoeZ

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

53. d¡pídH$ ñVa na noQ´>mob ‘| BWoZm°b {‘lU H$mo 20 à{VeV
VH$ bo OmZo Ho$ {bE ^maV Zo  G20 {eIa gå‘obZ ‘|
{H$g nhb H$s KmofUm H$s?

(A) d¡pídH$ Obdm¶w H$m¶© ¶moOZm

(B) h[aV D$Om© H«$m§{V

(C) d¡pídH$ O¡d BªYZ JR>~§YZ

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

54. {Xg§~a 2023 Ho$ A§V ‘| {H$g Zm¡H$m {eën H$mo ^maVr¶
Zm¡goZm ‘| em{‘b {H$¶m J¶m?

(A) ‘§Owbm

(B) ‘Zmoha

(C) ‘§Jb

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

{DBF 47}
{DBF 48}
{DBF 49}
{DBF 50}
{DBF 51}
{DBF 52}
{DBF 53}
{DBF 54}


1812/MAV/M-2024-16/S-416-I

55. Very high - intensity Earthquake Zone include -
(A) Pashchim Champaran and Purab

Champaran
(B) Madhubani and Supaul
(C) Purnea and Kathiar
(D) More than one of the above
(E) None of the above

56. Smallest Bird sanctuary in Bihar in terms of
geographical area is -
(A) Barela Jheel Salim Ali Bird Sanctuary
(B) Nakti Dam Bird Sanctuary
(C) Nagi Dam Bird Sanctuary
(D) More than one of the above
(E) None of the above

57. The tributary of Ganga having the longest
distance in Bihar is-
(A) Sone
(B) Kosi
(C) Burhi Gandak
(D) More than one of the above
(E) None of the above

58. The river having the largest basin area is -
(A) Pennar
(B) Brahmani
(C) Sabarmati
(D) More than one of the above
(E) None of the above

59. The second longest length of international
boundary is shared by India with -
(A) Pakistan
(B) China
(C) Bangladesh
(D) More than one of the above
(E) None of the above

60. The Antecedent drainage pattern of river
systems found in-
(A) The Punjab Himalayas
(B) The Kumaun Himalayas
(C) The Deccan Plateau Region
(D) More than one of the above
(E) None of the above

61. The State with the highest number of wildlife
sanctuaries (2019) is-
(A) Maharashtra
(B) Karnataka
(C) Madhya Pradesh
(D) More than one of the above
(E) None of the above

62. The State producing the highest solar power
generation in 2022-23 is -
(A) Gujarat
(B) Karnataka
(C) Rajasthan
(D) More than one of the above
(E) None of the above

63. Which Indian leader used the ‘Safety – Valve
theory’ to attack the moderates in the
congress?

(A) Womesh Chandra Bonnerjee

(B) Bipin Chandra Pal

(C) Lala Lajpat Rai

(D) More than one of the above

(E) None of the above
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55. A{V Cƒ Vrd«Vm dmbo ̂ yH§$n joÌ ‘| em{‘b h¢ -
(A) npíM‘ M§nmaU Am¡a nya~ M§nmaU
(B) ‘Yw~Zr Am¡a gwnm¡b
(C) ny{U©¶m Ed§ H${R>¶ma
(D) Cnamoº$ ‘| go EH$ go A{YH$
(E) Cnamoº$ ‘| go H$moB© Zht

56. ^m¡Jmo{bH$ joÌ H$s ÑpîQ> go {~hma H$m g~go N>moQ>m njr
A^¶maÊ¶ h¡ -
(A) ~aobm Prb gbr‘ Abr njr A^¶maÊ¶
(B) ZH$Q>r ~m§Y njr A^¶maÊ¶
(C) ZmJr ~m§Y njr A^¶maÊ¶
(D) Cnamoº$ ‘| go EH$ go A{YH$
(E) Cnamoº$ ‘| go H$moB© Zht

57. {~hma ‘| g~go bå~r Xÿar dmbr J§Jm H$s ghm¶H$ ZXr h¡ -
(A) gmoZ
(B) H$mogr
(C) ~y‹T>r J§S>H$>
(D) Cnamoº$ ‘| go EH$ go A{YH$
(E) Cnamoº$ ‘| go H$moB© Zht

58. g~go ~‹S>o ~o{gZ joÌ dmbr ZXr h¡ -
(A) noÞma
(B) ~«m÷Ur
(C) gm~a‘Vr
(D) Cnamoº$ ‘| go EH$ go A{YH$
(E) Cnamoº$ ‘| go H$moB© Zht

59. A§Vam©ï´>r¶ gr‘m H$s Xÿgar g~go b§~r b§~mB© ^maV Ûmam
gmPm H$s OmVr h¡ -
(A) nm{H$ñVmZ
(B) MrZ
(C) ~m§½bmXoe
(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

60. ZXr àUm{b¶m| H$m nyd©dVu Ob {ZH$mgr n¡Q>Z© nm¶m J¶m -

(A) n§Om~ {h‘mb¶

(B) Hw$‘mD±$ {h‘mb¶

(C) X³H$Z nR>ma joÌ

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

61. gdm©{YH$ dÝ¶Ord A^¶maÊ¶m| dmbm amÁ¶ 2019 h¡ -

(A) ‘hmamḯ>

(B) H$Zm©Q>H$

(C) ‘Ü¶ àXoe

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

62. 2022-23 ‘| gdm©{YH$ gm¡a D$Om© CËnmXZ H$aZo dmbm
amÁ¶ h¡ -

(A) JwOamV

(B) H$Zm©Q>H$

(C) amOñWmZ

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

63. H$m§J«og ‘§o CXmadm{X¶m| na Amjon bJmZo Ho$ {bE {H$g ̂ maVr¶
ZoVm Zo gwajm-dmëd {gÕmÝV H$m à¶moJ {H$¶m Wm?

(A) dmo‘oe MÝÐ ~moZOu

(B) {~nrZ MÝÐ nmb

(C) bmbm bmOnV am¶

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht
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64. When did the boycott of British goods and
promotion of Swadeshi Become the two
pillars during which movement?
(A) Partition of Bengal
(B) Rowlatt Satyagraha movement
(C) Quit India movement
(D) More than one of the above
(E) None of the above

65. What were the major gains of the Non-
cooperation movement?
(A) General Awakening in the masses
(B) Disbelief in British system of

government
(C) Faith in the congress for the attainment

of Swaraj
(D) More than one of the above
(E) None of the above

66. Who defined socialism in a scientific manner
‘the abolition of capitalism and class
domination’?
(A) Lala Lajpat Rai
(B) Leaders of Hindustan Socialist

Republican Association
(C) The Extremist leaders of congress
(D) More than one of the above
(E) None of the above

67. Who led a delegation to London to meet
secretary of state for India, Montagu, to
demand female franchise?
(A) Sarla Devi Chaudhurani
(B) Sucheta Kripalani
(C) Aruna Asaf Ali
(D) More than one of the above
(E) None of the above

68. Which event was “a glorious event in the
history of the freedom movement in India” an
acceptable plan by both the congress and
Muslim League?

(A) Cripps Mission plan

(B) Simon Commission plan

(C) Cabinet Mission plan

(D) More than one of the above

(E) None of the above

69. Who firmly believed that a happy prosperous
national existence could be built-up on the
basis of capitalist social system?

(A) Gandhiji

(B) Jawaharlal Nehru

(C) Subhash Chandra Bose

(D) More than one of the above

(E) None of the above

70. Who wrote, ‘The Indian Struggle’, a book as
his autobiography?

(A) Maulana Abul Kalam Azad

(B) Bal Gangadhar Tilak

(C) Rajendra Prasad

(D) More than one of the above

(E) None of the above



2112/MAV/M-2024-16/S-416-I [P.T.O.

64. {H$g AmÝXmobZ Ho$ Xm¡amZ {~«{Q>e gm‘mZ H$m ~{hîH$ma Am¡a
ñdXoer H$mo ~‹T>mdm XoZo Ho$ Xmo ñVå^ ~Zo?

(A) ~§Jmb H$m {d^mOZ

(B) am°b¡Q> gË¶mJ«h AmÝXmobZ

(C) ^maV N>mo‹S>mo| AmÝXmobZ

(D) Cnamoº$ ‘| go EH$ go A{YH$

(E) Cnamoº$ ‘| go H$moB© Zht

65. Agh¶moJ AmÝXmobZ Ho$ ‘w»¶ bm^ ³¶m-³¶m Wo?

(A) OZ-gm‘mÝ¶ ‘§o ì¶mnH$ MoVZm

(B) gaH$ma H$s {~«{Q>e ì¶dñWm ‘§o A{dídmg

(C) ñdamÁ¶ àm{á Ho$ {bE H$m§J«og ‘| {dídmg

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

66. EH$ d¡km{ZH$ ì¶dhma ‘| g‘mOdmX H$mo {H$gZo n[a^m{fV
{H$¶m - "ny±OrdmX Am¡a dJ©-Am{YnË¶ Ho$ {ZamH$aU&'

(A) bmbm bmOnV am¶

(B) {hÝXþñVmZ g‘mOdmXr JUamÁ¶ g§JR>Z Ho$
ZoVmAm| Zo

(C) H$m§J«og Ho$ CJ«dmXr ZoVmAm|

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

67. ñÌr ‘Vm{YH$mar H$s ‘m±J hoVy {H$gHo$ ZoV¥Ëd ‘| bÝXZ H$mo
{eï>‘ÊS>b ̂ maV-‘pÝÌ, ‘m±Q>o½¶y go {‘bZo ̂ oOm J¶m Wm?

(A) gabm Xodr Mm¡YamZr

(B) gwMoVm H¥$nbmZr

(C) Aê$Um Amg’$ Abr

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

68. ^maV ‘| {H$g KQ>Zm H$mo ""ñdV§ÌVm AmÝXmobZ Ho$ B{Vhmg ‘§o
EH$ emZXma KQ>Zm'' ‘mZm J¶m Omo XmoZm| H$m§J«og Am¡a ‘wpñb‘
brJ H$mo ñdrH$m¶© Wr?

(A) {H«$ßg {‘eZ ¶moOZm

(B) gmB©‘Z H$‘reZ ¶moOZm

(C) H¡${~ZoQ> {‘eZ ¶moOZm

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

69. {H$gZo EH$ gwIr-gånÞ amï´>r¶ ApñVËd H$mo ny±OrdmXr
gm‘m{OH$ ì¶dñWm Ho$ AmYma H$mo ~ZmZo ‘| Ñ‹T> {dídmg
{H$¶m Wm?>

(A) Jm±YrOr

(B) Odmhabmb Zohê$

(C) gŵ mf M§Ð ~mog

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht

70. {H$gZo "^maVr¶ g§Kf©' EH$ nwñVH$ Ho$ ê$n ‘| AnZr
AmË‘H$Wm {bIr?

(A) ‘m¡bmZm A~wb H$bm‘ AmµOmX

(B) ~mb J§JmYa {VbH$

(C) amOoÝÐ àgmX

(D) Cn¶w©º$ ‘| go EH$ go A{YH$

(E) Cn¶w©º$ ‘| go H$moB© Zht
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71. The octal number (651.124)8 is equivalent
to _______.

(A) (1A9.2A)16

(B) (1B0.l0)16

(C) (1A8.A3)16

(D) More than one of the above

(E) None of  the above

72. Which characteristic of IC in Digital Circuits
represents a function of the switching time of
a particular transistor?

(A) Fan - out

(B) Fan - in

(C) Propagation delay

(D) More than one of the above

(E) None of  the above

73. What are the basic gates in MOS logic family?

(A) NAND and NOR

(B) AND and OR

(C) NAND and OR

(D) More than one of the above

(E) None of the above

PART - III
(COMPUTER)

74. How many AND gates are required to
construct a 4 - bit parallel multiplier if four
4 - bit parallel binary adders are given?

(A) Four 2 - input AND gates

(B) Eight 2 - input AND gates

(C) Sixteen 2 - input AND gates

(D) More than one of the above

(E) None of the above

75. A priority encoder has four inputs I0, I1, I2

and I3 where I3 has the highest priority and
I0 has the least priority. If I2 = 1, what will be
the output?

(A) 00

(B) 11

(C) 10

(D) More than one of the above

(E) None of the above

76. Which of these pins will allow to activate and
deactivate a multiplexer?

(A) Enable pin

(B) Selection pin

(C) Present pin

(D) More than one of the above

(E) None of  the above
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PART - III
(COMPUTER)

74. ¶{X Mma 4 {~Q> g‘m§Va {ÛAmYmar ¶moOH$ {XE JE h¢, Vmo
4 {~Q> g‘m§Va JwUH$ Ho$ {Z‘m©U Ho$ {bE {H$VZo AND JoQ>m|
H$s Amdí¶H$Vm hmoJr?

(A) Four 2- input AND gates

(B) Eight 2 - input AND gates

(C) Sixteen 2 - input AND gates

(D) More than one of the above

(E) None of the above

75. EH$ àmW{‘H$Vm EZH$moS>a ‘| Mma BZnwQ>  I0, I1, I2, Am¡a I3

hmoVo h¢ Ohm§ I3 H$s gdm}ƒ àmW{‘H$Vm hmoVr h¡ Am¡a I0 H$s
g~go H$‘ àmW{‘H$Vm hmoVr h¡& ¶{X I2= 1 h¡, Vmo AmCQ>nwQ>
³¶m hmoJm?

(A) 00

(B) 11

(C) 10

(D) More than one of the above

(E) None of the above

76. BZ‘| go H$m¡Z-gm {nZ ‘ëQ>rßbo³ga H$mo g{H«$¶ Am¡a {ZpîH«$¶
H$aZo H$s AZw‘{V XoJm?

(A) Enable pin

(B) Selection pin

(C) Present pin

(D) More than one of the above

(E) None of  the above

71. Am°³Q>b g§»¶m (651.124)8 {H$gHo$ ~am~a h¡ ______

(A) (1A9.2A)16

(B) (1B0.l0)16

(C) (1A8.A3)16

(D) More than one of the above

(E) None of  the above

72. {S>{OQ>b g{H©$Q> ‘| IC H$s H$m¡Z gr {deofVm {H$gr {deof
Q´>m§{OñQ>a Ho$ {ñdMZ g‘¶ Ho$ EH$ g‘mamoh H$m à{V{Z{YËd
H$aVr h¡?

(A) Fan - out

(B) Fan - in

(C) Propagation delay

(D) More than one of the above

(E) None of  the above

73. E‘.Amo.Eg. bm°{OH$ n[adma ‘| ~w{Z¶mXr Ûma ³¶m h¢?

(A) NAND and NOR

(B) AND and OR

(C) NAND and OR

(D) More than one of the above

(E) None of the above
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77. Which of the following is the full form of
CISC?

(A) Complex Instruction Sequential
Compilation

(B) Complex Instruction Set Computer

(C) Computer Integrated Sequential
Compiler

(D) More than one of the above

(E) None of the above

78. In order to read multiple bytes of a row at the
same time, we make use of _______.

(A) Memory extension

(B) Latch

(C) Shift register

(D) More than one of the above

(E) None of the above

79. The memory devices which are similar to
EEPROM but differ in the cost effectiveness
is ________.

(A) CMOS

(B) Memory sticks

(C) Flash memory

(D) More than one of the above

(E) None of  the above

80. _______ method is used to map logical
addresses of variable length onto physical
memory.

(A) Paging

(B) Overlays

(C) Segmentation

(D) More than one of the above

(E) None of the above

81. Which of the following is not the application
of stack?

(A) Data Transfer between two
asynchronous process

(B) Compiler Syntax Analyzer

(C) Tracking of local variables at run time

(D) More than one of the above

(E) None of the above

82. What is the need for a circular queue?

(A) Easier computations

(B) Implement LIFO principle in queues

(C) Effective usage of memory

(D) More than one of the above

(E) None of the above
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77. {ZåZ{b{IV ‘| go H$m¡Z-gr gr.AmB©.Eg.gr. H$m nyU© ê$n
h¡?

(A) Complex Instruction Sequential
Compilation

(B) Complex Instruction Set Computer

(C) Computer Integrated Sequential
Compiler

(D) More than one of the above

(E) None of the above

78. EH$ hr g‘¶ ‘| EH$ n§{º$ Ho$ H$B© ~mBQ²>g n‹T>Zo Ho$ {bE, h‘
BgH$m Cn¶moJ H$aVo h¢ _______

(A) Memory extension

(B) Latch

(C) Shift register

(D) More than one of the above

(E) None of the above

79. ‘o‘moar {S>dmBg Omo EEPROM Ho$ g‘mZ h¢ bo{H$Z bmJV
à^mderbVm ‘| {^Þ h¡ _______

(A) CMOS

(B) Memory sticks

(C) Flash memory

(D) More than one of the above

(E) None of  the above

80. _______{d{Y H$m Cn¶moJ ̂ m¡{VH$ ñ‘¥{V na Ma b§~mB©
Ho$ Vm{H©$H$ nVo H$mo ‘¡n H$aZo Ho$ {bE {H$¶m OmVm h¡&

(A) Paging

(B) Overlays

(C) Segmentation

(D) More than one of the above

(E) None of the above

81. {ZåZ{b{IV ‘| go H$m¡Z-gm ñQ>¡H$ H$m AZwà¶moJ Zht h¡?

(A) Data Transfer between two
asynchronous process

(B) Compiler Syntax Analyzer

(C) Tracking of local variables at run time

(D) More than one of the above

(E) None of the above

82. d¥ÎmmH$ma H$Vma H$s ³¶m Amdí¶H$Vm h¡?

(A) Easier computations

(B) Implement LIFO principle in queues

(C) Effective usage of memory

(D) More than one of the above

(E) None of the above
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83. Which of the following is the most widely used
external memory data structure?

(A) B-tree

(B) Red-black tree

(C) AVL tree

(D) More than one of the above

(E) None of the above

84. What is the time complexity of inserting at the
end in dynamic arrays?

(A) O(1)

(B) O(n)

(C) Either O(1) or O(n)

(D) More than one of the above

(E) None of the above

85. Linked lists are not suitable for the
implementation of _________.

(A) Insertion sort

(B) Radix sort

(C) Binary search

(D) More than one of the above

(E) None of the above

86. Which of the following sorting algorithms can
be used to sort a random linked list with
minimum time complexity?

(A) Insertion Sort

(B) Quick Sort

(C) Merge Sort

(D) More than one of the above

(E) None of the above

87. Which of the following tree data structures is
not a balanced binary tree?

(A) Red - black tree

(B) B-tree

(C) AVL tree

(D) More than one of the above

(E) None of the above

88. Which of the following application makes use
of a circular linked list?

(A) Recursive function calls

(B) Allocating CPU to resources

(C) Implement Hash Tables

(D) More than one of the above

(E) None of the above
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83. {ZåZ{b{IV ‘| go H$m¡Z-gr g~go ì¶mnH$ ê$n go BñVo‘mb
H$s OmZo dmbr ~mhar ‘o‘moar S>oQ>m g§aMZm h¡?

(A) B-tree

(B) Red-black tree

(C) AVL tree

(D) More than one of the above

(E) None of the above

84. J{Verb ga{U¶m| ‘| A§V ‘§o S>mbZo H$s g‘¶ O{Q>bVm ³¶m
h¡?

(A) O(1)

(B) O(n)

(C) Either O(1) >Am¡a O(n)

(D) More than one of the above

(E) None of the above

85. qbH$ H$s JB© gy{M¶m§ _______ Ho$ H$m¶m©Ýd¶Z Ho$ {bE
Cn¶wº$ Zht h¡?

(A) Insertion sort

(B) Radix sort

(C) Binary search

(D) More than one of the above

(E) None of the above

86. {ZåZ{b{IV ‘| go {H$g gm°{Q>ªJ EëJmo[aX‘ H$m Cn¶moJ Ý¶yZV‘
g‘¶ O{Q>bVm Ho$ gmW ¶mÑpÀN>H$ qb³S> gyMr H$mo gm°Q>©
H$aZo Ho$  {bE {H$¶m Om gH$Vm h¡?

(A) Insertion Sort

(B) Quick Sort

(C) Merge Sort

(D) More than one of the above

(E) None of the above

87. {ZåZ{b{IV ‘| go H$m¡Z-gr d¥j S>oQ>m g§aMZm g§Vw{bV ~mBZar
Q́>r Zht h¡?

(A) Red - black tree

(B) B-tree

(C) AVL tree

(D) More than one of the above

(E) None of the above

88. {ZåZ{b{IV ‘| go H$m¡Z-gm AZwà¶moJ d¥ÎmmH$ma qb³S> gyMr
H$m Cn¶moJ H$aVm h¡?

(A) Recursive function calls

(B) Allocating CPU to resources

(C) Implement Hash Tables

(D) More than one of the above

(E) None of the above
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89. Which data structures are considered linear?

(A) Binary tree

(B) Graph

(C) Stack

(D) More than one of the above

(E) None of the above

90. What is the worst case time complexity of
the binary tree sort?

(A) O(n)

(B) O(nlogn)

(C) O(n2)

(D) More than one of the above

(E) None of the above

91. Consider the original array 17 8 12 4 26.
How many comparisons are needed to
construct the BST on the original array?

(A) 5

(B) 10

(C) 7

(D) More than one of the above

(E) None of the above

92. Bellman Ford algorithm is an example for
_______

(A) Linear Programming

(B) Greedy  Algorithms

(C) Dynamic Programming

(D) More than one of the above

(E) None of the above

93. Fractional knapsack problem is solved most
efficiently by which of the following
algorithm?

(A) Backtracking

(B) Greedy algorithm

(C) Dynamic programming

(D) More than one of the above

(E) None of the above

94. Who published the first solution of the eight
queens puzzle?

(A) Franz Nauck

(B) Max Bezzel

(C) Friedrich

(D) More than one of the above

(E) None of the above

95. Which of the following is the biggest
advantage of selection sort?

(A) it has low time complexity

(B) it has low space complexity

(C) it requires only n swaps under any
condition

(D) More than one of the above

(E) None of the above
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89. H$m¡Z gr S>oQ>m ñQ´>³Mg© br{Z¶a ‘mZr OmVr h¢?

(A) Binary tree
(B) Graph

(C) Stack

(D) More than one of the above

(E) None of the above

90. ~mBZar Q́>r gm°Q>© H$s g~go Iam~ pñW{V g‘¶ O{Q>bVm ³¶m
h¡?

(A) O(n)

(B) O(nlogn)

(C) O(n2)

(D) More than one of the above

(E) None of the above

91. ‘yb gaUr 17 8 12 4 26 na {dMma H$a|& ‘yb gaUr na
~r.Eg.Q>r. Ho$ {Z‘m©U Ho$ {bE {H$VZr VwbZmAm| H$s
Amdí¶H$Vm h¡?

(A) 5

(B) 10

(C) 7

(D) More than one of the above

(E) None of the above

92. ~ob‘¡Z ’$moS>© EëJmo[aW‘ ______ Ho$ {bE EH$ CXmhaU h¡

(A) Linear Programming

(B) Greedy  Algorithms

(C) Dynamic Programming

(D) More than one of the above

(E) None of the above

93. {^ÞmË‘H$ Z¡ngoH$ g‘ñ¶m H$mo {ZåZ{b{IV ‘| go {H$g
EëJmo[aW‘ Ûmam g~go Hw$ebVm go hb {H$¶m OmVm h¡?

(A) Backtracking

(B) Greedy algorithm

(C) Dynamic programming

(D) More than one of the above

(E) None of the above

94. AmR> am{Z¶m| nhobr H$m nhbm hb {H$gZo n«H$m{eV {H$¶m?

(A) Franz Nauck

(B) Max Bezzel

(C) Friedrich

(D) More than one of the above

(E) None of the above

95. {ZåZ{b{IV ‘| go H$m¡Z-gm M¶Z àH$ma H$m g~go ~‹S>m
bm^ h¡?

(A) it has low time complexity

(B) it has low space complexity

(C) it requires only n swaps under any
condition

(D) More than one of the above

(E) None of the above
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96. What is the main function of the command
interpreter?

(A) To provide the interface between the
API and application program

(B) To handle the files in the operating
system

(C) To get and execute the next user-
specified command

(D) More than one of the above

(E) None of the above

97. Which one of the following is not true?

(A) Kernel remains in the memory during
the entire computer session

(B) Kernel is made of various modules
which can not be loaded in running
operating system

(C) Kernel is the first part of the operating
system to load into memory during
booting

(D) More than one of the above

(E) None of the above

98. Which one of the following is not a real time
operating system?

(A) RT Linux

(B) Palm OS

(C) VxWorks

(D) More than one of the above

(E) None of the above

99. What does OS X has?

(A) Monolithic kernel with modules

(B) Micro kernel

(C) Hybrid kernel

(D) More than one of the above

(E) None of the above

100. In a timeshare operating system, when the
time slot assigned to a process is completed,
the process switches from the current state
to?

(A) Suspended state

(B) Blocked state

(C) Ready state

(D) More than one of the above

(E) None of the above

101. A deadlock avoidance algorithm dynamically
examines the ______ to ensure that a circular
wait condition can never exist.

(A) Resource allocation state

(B) Resources

(C) System storage state

(D) More than one of the above

(E) None of the above
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96. H$‘m§S> B§Q>aàoQ>a H$m ‘w»¶ H$m¶© ³¶m h¡?

(A) to provide the interface between the
API and application program

(B) to handle the files in the operating
system

(C) to get and execute the next user-
specified command

(D) More than one of the above

(E) None of the above

97. {ZåZ{b{IV ‘| go H$m¡Z-gm gË¶ Zht h¡?

(A) kernel remains in the memory during
the entire computer session

(B) kernel is made of various modules
which can not be loaded in running
operating system

(C) kernel is the first part of the operating
system to load into memory during
booting

(D) More than one of the above

(E) None of the above

98. {ZåZ{b{IV ‘§o go H$m¡Z-gm EH$ dmñV{dH$ g‘¶ Am°naoqQ>J
{gñQ>‘ Zht h¡?

(A) RT Linux

(B) Palm OS

(C) VxWorks

(D) More than one of the above

(E) None of the above

99. Amo.Eg. E³g ‘| ³¶m h¢?

(A) Monolithic kernel with modules

(B) Microkernel

(C) Hybrid kernel

(D) More than one of the above

(E) None of the above

100. Q>mB‘e¡¶a Am°naoqQ>J {gñQ>‘ ‘|, O~ {H$gr à{H«$¶m H$mo gm¢nm
J¶m g‘¶ ñbm°Q> nyam hmo OmVm h¡, Vmo à{H«$¶m dV©‘mZ pñW{V
go pñdM hmo OmVr h¡?

(A) Suspended state

(B) Blocked state

(C) Ready state

(D) More than one of the above

(E) None of the above

101. EH$ S>oS>bm°H$ n[ahma EëJmo[aW‘ J{Verb ê$n go ¶h
gw{ZpíMV H$aZo Ho$ {bE _______ H$s Om§M H$aVm h¡ {H$
EH$ n[anÌ àVrjm pñW{V H$^r ‘m¡OyX Zht hmo gH$Vr h¡&

(A) Resource allocation state

(B) Resources

(C) System storage state

(D) More than one of the above

(E) None of the above
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102. The operating system  maintains a _______
table that keeps track of how many frames
have been allocated, how many are there and
how many are available.

(A) Frame

(B) Mapping

(C) Page

(D) More than one of the above

(E) None of the above

103. For real time operating systems, interrupt
latency should be _______.

(A) Zero

(B) Minimal

(C) Maximum

(D) More than one of the above

(E) None of the above

104. What are the characteristics of stack based
IDS?

(A) It is programmed to interpret a certain
series of packets

(B) It models the normal usage of the
network as a noise characterization

(C) They are integrated closely with the
TCP/IP stack and watch packets

(D) More than one of the above

(E) None of the above

105. On systems where there are multiple
operating system, the decision to load a
particular one is done by _______.

(A) Process control block

(B) File control  block

(C) Boot loader

(D) More than one of the above

(E) None of the Above

106. What  is compaction?

(A) A technique for overcoming internal
fragmentation

(B) A paging technique

(C) A technique for overcoming external
fragmentation

(D) More than one of the above

(E) None of the above

107. What is the reason for using the MFU page
replacement algorithm?

(A) an actively used page should have a
large reference count

(B) a less used page has more chances to
be used again

(C) it is extremely efficient and optimal

(D) More than one of the above

(E) None of the above
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102. Am°naoqQ>J {gñQ>‘ EH$ _______ Vm{bH$m aIVm h¡ Omo
Q´>¡H$ H$aVm h¡ {H$ {H$VZo ’«o$‘ Amd§{Q>V {H$E JE h¢, {H$VZo h¢
Am¡a {H$VZo CnbãY h¢&

(A) Frame

(B) Mapping

(C) Page

(D) More than one of the above

(E) None of the above

103. dmñV{dH$ g‘¶ Am°naoqQ>J {gñQ>‘ Ho$ {bE, B§Q>aßQ> boQ>|gr
_______ hmoZr Mm{hE&

(A) Zero

(B) Minimal

(C) Maximum

(D) More than one of the above

(E) None of the above

104. ñQ>¡H$ AmYm[aV AmB©.S>r.Eg. H$s {deofVmE§ ³¶m h¢?

(A) It is programmed to interpret a certain
series of packets

(B) It models the normal usage of the
network as a noise characterization

(C) They are integrated closely with the
TCP/IP stack and watch packets

(D) More than one of the above

(E) None of the above

105. CZ àUm{b¶m| na Ohm§ H$B© Am°naoqQ>J {gñQ>‘ hmoVo h¢, {H$gr
{deof H$mo bmoS> H$aZo H$m {ZU©¶ _______ Ûmam {H$¶m
OmVm h¡

(A) Process control block

(B) File control  block

(C) Boot loader

(D) More than one of the above

(E) None of the Above

106. g§KZZ ³¶m h¡?

(A) A technique for overcoming internal
fragmentation

(B) a paging technique

(C) a technique for overcoming external
fragmentation

(D) More than one of the above

(E) None of the above

107. E‘.E’$.¶y. noO [aßbg‘|Q> EëJmo[aW‘ H$m Cn¶moJ H$aZo H$m
H$maU ³¶m h¡?

(A) an actively used page should have a
large reference count

(B) a less used page has more chances to
be used again

(C) it is extremely efficient and optimal

(D) More than one of the above

(E) None of the above
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108. Which type of data can be stored in the
database?

(A) Image oriented data

(B) Text, files containing data

(C) Data in the form of audio or video

(D) More than one of the above

(E) None of the above

109. Which of the following is not a feature of
DBMS?

(A) Support ACID Property

(B) High Level of Security

(C) Single-user Access only

(D) More than one of the above

(E) None of the above

110. Which of the following is not a function of the
database?

(A) Managing and manipulating stored data

(B) Analysing Code

(C) Security for stored data

(D) More than one of the above

(E) None of the above

111. Which command is used to remove a relation
from an SQL?

(A) Drop table

(B) Delete

(C) Purge

(D) More than one of the above

(E) None of the above

112. Which forms have a relation that contains
information about a single entity?

(A) 4NF

(B) 3NF

(C) 5NF

(D) More than one of the above

(E) None of the above

113. The top level of the hierarchy consists of
_______ each of which can contain______.

(A) Catalogs, Schemas

(B) Schemas,  Catalogs

(C) Environment, Schemas

(D) More than one of the above

(E) None of the above

114. Which of the following is correct according
to the technology deployed by DBMS?

(A) Pointers are used to maintain
transactional integrity and consistency

(B) Cursors are used to maintain
transactional integrity and consistency

(C) Locks are used to maintain
transactional integrity and consistency

(D) More than one of the above

(E) None of the above
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108. S>oQ>m~og ‘| {H$g àH$ma H$m S>oQ>m g§J«hrV {H$¶m Om gH$Vm h¡?

(A) Image oriented data

(B) Text, files containing data

(C) Data in the form of audio or video

(D) More than one of the above

(E) None of the above

109. {ZåZ{b{IV ‘| go H$m¡Z DBMS H$s {deofVm Zht h¡?

(A) Support ACID Property

(B) High Level of Security

(C) Single-user Access only

(D) More than one of the above

(E) None of the above

110. {ZåZ{b{IV ‘| go H$m¡Z S>oQ>m~og H$m H$m¶© Zht h¡?

(A) Managing and manipulating stored data

(B) Analysing Code

(C) Security for stored data

(D) More than one of the above

(E) None of the above

111. Eg.³¶y.Eb. go g§~§Y hQ>mZo Ho$ {bE {H$g H$‘m§S> H$m Cn¶moJ
{H$¶m OmVm h¡?

(A) Drop table

(B) Delete

(C) Purge

(D) More than one of the above

(E) None of the above

112. {H$Z ê$nm| ‘| EH$ g§~§Y h¡ {Og‘| EH$ BH$mB© Ho$ ~mao ‘§o
OmZH$mar h¡?

(A) 4NF

(B) 3NF

(C) 5NF

(D) More than one of the above

(E) None of the above

113. nXmZwH«$‘ Ho$ erf© ñVa ‘| _______ hmoVo h¢ {OZ‘| go àË¶oH$
‘| _______ hmo gH$Vo h¢&

(A) Catalogs, Schemas

(B) Schemas,  Catalogs

(C) Environment, Schemas

(D) More than one of the above

(E) None of the above

114. DBMS Ûmam V¡ZmV VH$ZrH$ Ho$ AZwgma {ZåZ{b{IV ‘|
go H$m¡Z-gm ghr h¡?

(A) Pointers are used to maintain
transactional integrity and consistency

(B) Cursors are used to maintain
transactional integrity and consistency

(C) Locks are used to maintain
transactional integrity and consistency

(D) More than one of the above

(E) None of the above
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115. What is an Instance of a Database?

(A) The state of the database system at any
given point of time

(B) The entire set of attributes of the
Database put together in a single
relation

(C) The initial values inserted into the
Database immediately after its creation

(D) More than one of the above

(E) None of the above

116. What is the term for an endpoint of an inter-
process communication flow across a
computer network?

(A) Port

(B) Pipe

(C) Socket

(D) More than one of the above

(E) None of the above

117. Which layer does the data link layer take
packets from and encapsulate them into
frames for transmission?

(A) transport layer

(B) application layer

(C) network layer

(D) More than one of the above

(E) None of the above

118. Which type of network shares the
communication channel among all the
machines?

(A) Broadcast network

(B) Multicast network

(C) Unicast network

(D) More than one of the above

(E) None of the above

119. Which topology requires a multipoint
connection?

(A) Mesh  Topology

(B) Bus   Topology

(C) Star Topology

(D) More than one of the above

(E) None of the above

120. When discussing IDS/IPS, what is a
signature?

(A) Attack Definition File

(B) It is used to authorize the users on a
network

(C) An electronic signature used to
authenticate the identity of a user on
the network

(D) More than one of the above

(E) None of the above
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115. S>oQ>m~og H$m EH$ CXmhaU ³¶m h¡?

(A) The state of the database system at any
given point of time

(B) The entire set of attributes of the
Database put together in a single
relation

(C) The initial values inserted into the
Database immediately after its creation

(D) More than one of the above

(E) None of the above

116. H$åß¶yQ>a ZoQ>dH©$ na A§Va-à{H«$¶m g§Mma àdmh Ho$ g‘mnZ
q~Xþ Ho$ {bE ³¶m eãX h¡?

(A) Port

(B) Pipe

(C) Socket

(D) More than one of the above

(E) None of the above

117. S>oQ>m qbH$ naV {H$g naV go n¡Ho$Q> boVr h¡ Am¡a CÝh| Q́>m§g{‘eZ
Ho$ {bE ’«o$‘ ‘§o g‘m{hV H$aVr h¢?

(A) transport layer

(B) application layer

(C) network layer

(D) More than one of the above

(E) None of the above

118. {H$g àH$ma H$m ZoQ>dH©$ g^r ‘erZm§o Ho$ ~rM g§Mma M¡Zb
gmPm H$aVm h¡?

(A) Broadcast network

(B) Multicast network

(C) Unicast network

(D) More than one of the above

(E) None of the above

119. {H$g Q>monmobm°Or Ho$ {bE ‘ëQ>rnm°B§Q> H$Zo³eZ H$s Amdí¶H$Vm
hmoVr h¡?

(A) Mesh  Topology

(B) Bus   Topology

(C) Star Topology

(D) More than one of the above

(E) None of the above

120. AmB©S>rEg/AmB©nrEg na MMm© H$aVo g‘¶, hñVmja ³¶m h¡?

(A) Attack Definition File

(B) It is used to authorize the users on a
network

(C) An electronic signature used to
authenticate the identity of a user on
the network

(D) More than one of the above

(E) None of the above
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121. Which of the following networks extends a
private network across public networks?

(A) virtual private network

(B) local area network

(C) enterprise private network

(D) More than one of the above

(E) None of the above

122. What type of transmission is involved in
communication between a computer and a
keyboard?

(A) Half-duplex

(B) Full-duplex

(C) Simplex

(D) More than one of the above

(E) None of the above

123. Who proposed the spiral model?

(A) Barry Boehm

(B) Pressman

(C) Royce

(D) More than one of the above

(E) None of the above

124. Software patch is defined as _____

(A) Daily or routine Fix

(B) Required or Critical Fix

(C) Emergency Fix

(D) More than one  of the above

(E) None of the above

125. 4GT Model is a set of ______

(A) Programs

(B) CASE Tools

(C) Software tools

(D) More than of the above

(E) None of the above

126. Which one of the following is not a software
process quality?

(A) Visibility

(B) Timeliness

(C) Portability

(D) More than one of the above

(E) None of the above

127. Which among the following doesn’t come
under OOP concept?

(A) Data hiding

(B) Platform independent

(C) Message Passing

(D) More than one of the above

(E) None of the above

128. In which access should a constructor be
defined, so that object of the class can be
created in any function?

(A) Public

(B) Private

(C) Protected

(D) More than one of the above

(E) None of the above
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121. {ZåZ{b{IV ‘| go H$m¡Z-gm ZoQ>dH©$ gmd©O{ZH$ ZoQ>dH©$  ‘|
EH$ {ZOr ZoQ>dH©$ H$m {dñVma H$aVm h¡?

(A) virtual private network

(B) local area network

(C) enterprise private network

(D) More than one of the above

(E) None of the above

122. H$åß¶yQ>a Am¡a H$s~moS>© Ho$ ~rM g§Mma ‘§o {H$g àH$ma H$m
Q́>m§g{‘eZ em{‘b h¡?

(A) Half-duplex

(B) Full-duplex

(C) Simplex

(D) More than one of the above

(E) None of the above

123. g{n©b ‘m°S>b H$m àñVmd {H$gZo {X¶m?

(A) Barry Boehm

(B) Pressman

(C) Royce

(D) More than one of the above

(E) None of the above

124. gm°âQ>do¶a n¡M H$mo _______ Ho$ ê$n ‘§o n[a^m{fV {H$¶m
J¶m h¡

(A) Daily or routine Fix

(B) Required or Critical Fix

(C) Emergency Fix

(D) More than one  of the above

(E) None of the above

125. 4GT ‘m°S>b _______ H$m EH$ goQ> h¡

(A) Programs
(B) CASE Tools
(C) Software tools
(D) More than of the above
(E) None of the above

126. {ZåZ{b{IV ‘| go H$m¡Z-gm EH$ gm°âQ>do¶a à{H«$¶m JwUdÎmm
Zht h¡?

(A) Visibility
(B) Timeliness
(C) Portability
(D) More than one of the above
(E) None of the above

127. {ZåZ{b{IV ‘§o go H$m¡Z Amo.Amo.nr. AdYmaUm Ho$ A§VJ©V
Zht AmVm h¡?

(A) Data hiding
(B) Platform independent
(C) Message Passing
(D) More than one of the above
(E) None of the above

128. {H$g E³gog ‘| EH$ H$ÝñQ´>³Q>a H$mo n[a^m{fV {H$¶m OmZm
Mm{hE, Vm{H$ {H$gr ^r ’§$³eZ ‘| ³bmg H$m Am°ãOo³Q>
~Zm¶m Om gHo$?

(A) Public
(B) Private

(C) Protected

(D) More than one of the above

(E) None of the above
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129. What type of protocol is HTTP?

(A) Stateful

(B) Stateless

(C) Transfer protocol

(D) More than one of the above

(E) None of the above

130. What does MIME stand for?

(A) Multipurpose Internet Messaging
Extension

(B) Multipurpose Internet Mail Extension

(C) Multipurpose Internet Multimedia
Extension

(D) More than one of the above

(E) None of the above

131. Which of the looping statements is/are
supported by PHP?

i) for loop

ii) while loop

iii) do-while loop

iv) foreach loop

(A) (i) and (ii)

(B) (i), (ii) and (iii)

(C) (i), (ii), (iii) and (iv)

(D) More than one of the above

(E) None of the above

132. Which function should we use to sort the array
in natural order?

(A) natcasesort ()

(B) casesort ()

(C) naturalsort ()

(D) More than one of the above

(E) None of the above

133. What are scripting languages?

(A) The programming languages that pre
decide the web page content

(B) The programming languages that are
simpler and offer same protection

(C) The programming languages that trade
off simplicity for protection

(D) More than one of the above

(E) None of the above

134. Under which of the following operation, NFA
is not closed?

(A) Negation

(B) Kleene

(C) Concatenation

(D) More than one of the above

(E) None of the above
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129.  HTTP {H$g àH$ma H$m àmoQ>moH$m°b h¡?

(A) Stateful

(B) Stateless

(C) Transfer protocol

(D) More than one of the above

(E) None of the above

130. MIME H$m ³¶m AW© h¡?

(A) Multipurpose Internet Messaging
Extension

(B) Multipurpose Internet Mail Extension

(C) Multipurpose Internet Multimedia
Extension

(D) More than one of the above

(E) None of the above

131. byqnJ ñQ>oQ>‘§oQ> ‘| go H$m¡Z-gm/go PHP Ûmam g‘{W©V h¡/h¢?

i) byn Ho$ {bE

ii) O~{H$ byn

iii) Sy>-O~{H$ byn

iv) foreach byn

(A) (i) and (ii)

(B) (i), (ii) and (iii)

(C) (i), (ii), (iii) and (iv)

(D) More than one of the above

(E) None of the above

132. àmH¥${VH$ H«$‘ ‘| gaUr H$mo gm°Q>© H$aZo Ho$ {bE h‘| {H$g
’§$³eZ H$m Cn¶moJ H$aZm Mm{hE?

(A) natcasesort ()

(B) casesort ()

(C) naturalsort ()

(D) More than one of the above

(E) None of the above

133. pñH«$pßQ>̈J ̂ mfmE§ ³¶m h¢?

(A) The programming languages that pre
decide the web page content

(B) The programming languages that are
simpler and offer same protection

(C) The programming languages that trade
off simplicity for protection

(D) More than one of the above

(E) None of the above

134. {ZåZ{b{IV ‘§o go {H$g Am°naoeZ Ho$ VhV², EZ.E’$.E. ~§X
Zht h¡?

(A) Negation

(B) Kleene

(C) Concatenation

(D) More than one of the above

(E) None of the above
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135. Let T = {p, q, r, s, t}. The number of strings
in S* of length 4 such that no symbols can be
repeated.

(A) 120

(B) 625

(C) 360

(D) More than one of the above

(E) None  of the above

136. Which of the following strings do not belong
the given regular expression? (a)*(a+cba)

(A) acbacba

(B) aaa

(C) acba

(D) More than one of the above

(E) None of the above

137. The following denotion belongs to which type
of language:______G=(V, T, P, S)

(A) Regular grammar

(B) Context free grammar

(C) Context Sensitive grammar

(D) More than one of the above

(E) None of the above

138. Which of the following is not an IoT platform?

(A) Amazon Web Services

(B) Microsoft Azure

(C) Flipkart

(D) More than one of the above

(E) None of the above

139. Which layer is used for wireless connection
in IoT devices?

(A) Application layer

(B) Network layer

(C) Data link layer

(D) More than one of the above

(E) None of the above

140. Which of the following is not a sensor in IoT?

(A) BMP280

(B) DHT11

(C) Photoresistor

(D) More than one of the above

(E) None of the above

141. IoT gateway must provide ______
(A) Protocol abstraction
(B) Data storage  / Security with hardware

(C) Simple and fast installation

(D) More than one of the above

(E) None of the above

142. Which of the following is an application of
Artificial  Intelligence?

(A) It helps to exploit vulnerabilities to
secure the firm

(B) Language understanding  and problem-
solving (Text analytics and NLP)

(C) It helps to deploy applications on the
cloud

(D) More than one of the above

(E) None of the above
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135. ‘mZm T = {p, q, r, s, t} h¡& b§~mB© 4 Ho$ S* ‘§o pñQ́>̈½g H$s
g§»¶m Bg àH$ma h¡ {H$ H$moB© àVrH$ Xmoham¶m Zht Om gH$Vm h¡&

(A) 120

(B) 625

(C) 360

(D) More than one of the above

(E) None  of the above

136. {ZåZ{b{IV ‘§o go H$m¡Z-gr pñQ>́̈J Xr JB© {Z¶{‘V A{^ì¶{º$
go g§~§{YV Zht h¡? (a)*(a+cba)

(A) acbacba

(B) aaa

(C) acba

(D) More than one of the above

(E) None of the above

137. {ZåZ{b{IV YmaUm {H$g àH$ma H$s ^mfm go g§~§{YV h¡ :
G = (V, T, P, S)

(A) Regular grammar

(B) Context free grammar

(C) Context Sensitive grammar

(D) More than one of the above

(E) None of the above

138. {ZåZ{b{IV ‘§o go H$m¡Z-gm IoT ßboQ>’$m°‘© Zht h¡?

(A) Amazon Web Services

(B) Microsoft Azure

(C) Flipkart

(D) More than one of the above

(E) None of the above

139. IoT CnH$aUm| ‘| dm¶abog H$Zo³eZ Ho$ {bE {H$g naV
H$m Cn¶moJ {H$¶m OmVm h¡?

(A) Application layer
(B) Network layer
(C) Data link layer
(D) More than one of the above
(E) None of the above

140. {ZåZ{b{IV ‘| go H$m¡Z IoT ‘| g|ga Zht h¡?

(A) BMP280
(B) DHT11
(C) Photoresistor
(D) More than one of the above
(E) None of the above

141. IoT JoQ>do H$mo ______ àXmZ H$aZm hmoJm&
(A) Protocol abstraction
(B) Data storage  / Security with hardware
(C) Simple and fast installation
(D) More than one of the above
(E) None of the above

142. {ZåZ{b{IV ‘| go H$m¡Z-gm Am{Q>©{’${e¶b B§Q>o{bO|g H$m
AZwà¶moJ h¡?

(A) It helps to exploit vulnerabilities to
secure the firm

(B) Language understanding  and problem-
solving (Text analytics and NLP)

(C) It helps to deploy applications on the
cloud

(D) More than one of the above

(E) None of the above
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143. What does the Bayesian network provide?

(A) Partial description  of the domain

(B) Complete description  of  the problem

(C) Complete description of the domain

(D) More than one of the above

(E) None of the above

144. Which search method takes less memory?

(A) Depth-First Search

(B) Breadth-First search

(C) Linear Search

(D) More than one of the above

(E) None of the above

145. E-commerce has _________ scope than
E-Business or Digital Business.

(A) Higher

(B) Narrower

(C) Wider

(D) More than one of the above

(E) None of the above

146. This E-Commerce commercial enterprise
model specifically specialises in selling
services or products online.

(A) Indirect Marketing

(B) Online Direct Marketing

(C) Brick & Mortar

(D) More than one of the above

(E) None of the above

147. Real time streaming protocol is used____

(A) to control streaming media servers

(B) for establishing and controlling media
sessions between endpoints

(C) to provide real time control of playback
of media files from the server

(D) More than one of the above

(E) None of the above

148. The expansion for MIDI is

(A) Musical Instrument Digital Interface

(B) Musical  Instrument  Data Interface

(C) Musical Instructions Digital Interface

(D) More than one of the above

(E) None of the above

149. The _____ input addresses the different styles
of different users.

(A) Multi-sense

(B) Multimedia

(C) Multi-sensory
(D) More than one of the above
(E) None of the above

150. Which of the following is not the utility of
DBMS?

(A) Backup

(B) Data Loading

(C) Process Organization

(D) More than one of the above

(E) None of the above
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143. ~m¶o{g¶Z ZoQ>dH©$ ³¶m àXmZ H$aVm h¡?

(A) Partial description  of the domain

(B) Complete description  of  the problem

(C) Complete description of the domain

(D) More than one of the above

(E) None of the above

144. H$m¡Z-gr ImoO {d{Y H$‘ ‘o‘moar boVr h¡?

(A) Depth-First Search

(B) Breadth-First search

(C) Linear Search

(D) More than one of the above

(E) None of the above

145. B© H$m°‘g© ‘§o B©-{~OZog ¶m {S>{OQ>b {~OZog H$s VwbZm ‘|
______ J§wOmBe h¡&

(A) Higher

(B) Narrower

(C) Wider

(D) More than one of the above

(E) None  of the above

146. ¶h B©-H$m°‘g© dm{UpÁ¶H$ CÚ‘ ‘m°S>b {deof ê$n go godmAm|
¶m CËnmXm| H$mo Am°ZbmBZ ~oMZo ‘| ‘m{ha h¡&

(A) Indirect Marketing

(B) Online Direct Marketing

(C) Brick & Mortar

(D) More than one of the above

(E) None of the above

147. dmñV{dH$ g‘¶ ñQ́>rq‘J àmoQ>moH$m°b H$m Cn¶moJ {H$¶m OmVm
h¡ ______

(A) to control streaming media servers

(B) for establishing and controlling media
sessions between endpoints

(C) to provide real time control of playback
of media files from the server

(D) More than one of the above

(E) None of the above

148. MIDI Ho$ {bE {dñVma  h¡

(A) Musical Instrument Digital Interface

(B) Musical  Instrument  Data Interface

(C) Musical Instructions Digital Interface

(D) More than one of the above

(E) None  of the above

149. ______ BZnwQ> {d{^Þ Cn¶moJH$Vm©Am| H$s {d{^Þ e¡{b¶m|
H$mo g§~mo{YV H$aVm h¡&

(A) Multi-sense

(B) Multimedia

(C) Multi-sensory
(D) More than one of the above
(E) None of the above

150. {ZåZ{b{IV ‘| go H$m¡Z DBMS H$s Cn¶mo{JVm Zht h¡?

(A) Backup

(B) Data Loading

(C) Process Organization

(D) More than one of the above

(E) None of the above
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SPACE FOR ROUGH WORK / aµ’$ H$m¶© Ho$ {bE ñWmZaµ’$ H$m¶© Ho$ {bE ñWmZaµ’$ H$m¶© Ho$ {bE ñWmZaµ’$ H$m¶© Ho$ {bE ñWmZaµ’$ H$m¶© Ho$ {bE ñWmZ
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àíZ-nwpñVH$m
^mfm, gm‘mÝ¶ AÜ¶¶Z Am¡a H$åß¶yQ>a

 g‘¶ : 2:30 KÊQ>o nyUmªH$ : 150

12/MAV/M-2024-16

àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü¶mZ go n‹T> b|&

I
nwpñVH$m l§¥Ibm

Cå‘rXdma H$m AZwH«$‘m§H$

‘hÎdnyU© AZwXoe>

1. ¶h àíZ-nwpñVH$m VrZ ^mJm| ‘| {d^m{OV h¡ - ^mJ-I, ^mJ-II Ed§ ^mJ-III& ^mJ-I ‘| ^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm) Ho$ àíZ h¢, ^mJ-II ‘|
gm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Z Ho$ àíZ h¢ VWm ^mJ-III ‘| H$åß¶yQ>aH$åß¶yQ>aH$åß¶yQ>aH$åß¶yQ>aH$åß¶yQ>a Ho$ àíZ h¢&

2. ^mJ-^mJ-^mJ-^mJ-^mJ-I, ^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm) ‘| àíZ g§»¶m 1 go 30 VH$ àíZ h¢& ^mJ-^mJ-^mJ-^mJ-^mJ-I ‘| A§J« oOr ^mfmA§J« oOr ^mfmA§J« oOr ^mfmA§J« oOr ^mfmA§J«oOr ^mfm ‘| àíZ g§»¶m E-1 go E-8 VH$ (g^r Ho$
{bE g‘mZ), {hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm ‘| àíZ g§»¶m H-9 go H-30 VH$ CXþ © ^mfmCXþ © ^mfmCXþ © ^mfmCXþ © ^mfmCXþ© ^mfm ‘§o àíZ g§»¶m U-9 go U-30 VH$ VWm ~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm ‘|
àíZ g§»¶m B-9 go B-30 VH$ h¢& (Aä¶Wu H$mo VrZ ^mfmAm| ‘| go {H$gr EH$ ^mfm Ho$ àíZ MwZZo h¢) ^mJ-^mJ-^mJ-^mJ-^mJ-II ‘| àíZ g§»¶m 31 go 70
VWm ^mJ- ^mJ- ^mJ- ^mJ- ^mJ-III ‘| àíZ g§»¶m 71 go 150 VH$ h¢& (^mJ-^mJ-^mJ-^mJ-^mJ-II VWm ^mJ-^mJ-^mJ-^mJ-^mJ-III ‘| àíZ Am¡a CZHo$ CÎma A§J«oOr Ed§ {hÝXr ‘| ‘w{ÐV h¢)

3. g^rg^rg^rg^rg^r àíZm| H$m A§H$ g‘mZ h¢&

4. àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo CÎma nÌH$ àíZ nwpñVH$m Ho$ AÝXa {X¶m J¶m h¡& AnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ ‘| AnZmAnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ ‘| AnZmAnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ ‘| AnZmAnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ ‘| AnZmAnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ ‘| AnZm
AZwH « $‘m §H$ {bIo Ed§ H w $Q >~Õ H$a | VWm AÝ¶ {ddaU Adí¶ {bI| AÝ¶Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om¶oJm&AZwH « $‘m §H$ {bIo Ed§ H w $Q >~Õ H$a | VWm AÝ¶ {ddaU Adí¶ {bI| AÝ¶Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om¶oJm&AZwH « $‘m §H$ {bIo Ed§ H w $Q >~Õ H$a | VWm AÝ¶ {ddaU Adí¶ {bI| AÝ¶Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om¶oJm&AZwH « $‘m §H$ {bIo Ed§ H w $Q >~Õ H$a | VWm AÝ¶ {ddaU Adí¶ {bI| AÝ¶Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om¶oJm&AZwH « $‘m §H$ {bIo Ed§ H w $Q >~Õ H$a | VWm AÝ¶ {ddaU Adí¶ {bI| AÝ¶Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om¶oJm&

5. narjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b¾ CÎma nwpñVH$m H$s Om ±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b¾ CÎma nwpñVH$m H$s Om ±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b¾ CÎma nwpñVH$m H$s Om ±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b¾ CÎma nwpñVH$m H$s Om ±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b¾ CÎma nwpñVH$m H$s Om ±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$na
Xm¶t Amoa ‘w{ÐV l§ ¥Ibm Ed§ CÎma nwpñVH$m na ‘w{ÐV l¥ §Ibm g‘mZ h¡& H¥$n¶m ¶h ^r Om±M b| {H$ nwpñVH$m ‘| a’$ H$m¶© hoV wXm¶t Amoa ‘w{ÐV l§ ¥Ibm Ed§ CÎma nwpñVH$m na ‘w{ÐV l¥ §Ibm g‘mZ h¡& H¥$n¶m ¶h ^r Om±M b| {H$ nwpñVH$m ‘| a’$ H$m¶© hoV wXm¶t Amoa ‘w{ÐV l§ ¥Ibm Ed§ CÎma nwpñVH$m na ‘w{ÐV l¥ §Ibm g‘mZ h¡& H¥$n¶m ¶h ^r Om±M b| {H$ nwpñVH$m ‘| a’$ H$m¶© hoV wXm¶t Amoa ‘w{ÐV l§ ¥Ibm Ed§ CÎma nwpñVH$m na ‘w{ÐV l¥ §Ibm g‘mZ h¡& H¥$n¶m ¶h ^r Om±M b| {H$ nwpñVH$m ‘| a’$ H$m¶© hoV wXm¶t Amoa ‘w{ÐV l§ ¥Ibm Ed§ CÎma nwpñVH$m na ‘w{ÐV l¥ §Ibm g‘mZ h¡& H¥$n¶m ¶h ^r Om±M b| {H$ nwpñVH$m ‘| a’$ H$m¶© hoV w
Xm o n¥ð>m | (n¥ð> g§. Xm o n¥ð>m | (n¥ð> g§. Xm o n¥ð>m | (n¥ð> g§. Xm o n¥ð>m | (n¥ð> g§. Xm o n¥ð>m | (n¥ð> g§. 46 Am¡a Am¡a Am¡a Am¡a Am¡a     47) g{hV nya o ) g{hV nya o ) g{hV nya o ) g{hV nya o ) g{hV nya o 48 ‘w{ÐV n¥ð> h¢ Am¡a H$m oB © àíZ ¶m n¥ð> {~Zm N>nm hþAm ¶m ’$Q>m hþAm ¶m Xm o~mam ‘w{ÐV n¥ð> h¢ Am¡a H$m oB © àíZ ¶m n¥ð> {~Zm N>nm hþAm ¶m ’$Q>m hþAm ¶m Xm o~mam ‘w{ÐV n¥ð> h¢ Am¡a H$m oB © àíZ ¶m n¥ð> {~Zm N>nm hþAm ¶m ’$Q>m hþAm ¶m Xm o~mam ‘w{ÐV n¥ð> h¢ Am¡a H$m oB © àíZ ¶m n¥ð> {~Zm N>nm hþAm ¶m ’$Q>m hþAm ¶m Xm o~mam ‘w{ÐV n¥ð> h¢ Am¡a H$m oB © àíZ ¶m n¥ð> {~Zm N>nm hþAm ¶m ’$Q>m hþAm ¶m Xm o~mam
Am¶m h þAm ¶m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m ‘| ‘ w{ÐV l¥ §Ibm ‘§ o  AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b¾ CÎma n wpñVH$m ‘§ oAm¶m h þAm ¶m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m ‘| ‘ w{ÐV l¥ §Ibm ‘§ o  AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b¾ CÎma n wpñVH$m ‘§ oAm¶m h þAm ¶m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m ‘| ‘ w{ÐV l¥ §Ibm ‘§ o  AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b¾ CÎma n wpñVH$m ‘§ oAm¶m h þAm ¶m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m ‘| ‘ w{ÐV l¥ §Ibm ‘§ o  AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b¾ CÎma n wpñVH$m ‘§ oAm¶m h þAm ¶m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m ‘| ‘ w{ÐV l¥ §Ibm ‘§ o  AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b¾ CÎma n wpñVH$m ‘§ o
{H$gr àH$ma H$s Ìw{Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l¥ §Ibm H$s X ÿgar ghr nwpñVH$m bo b|&{H$gr àH$ma H$s Ìw{Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l¥ §Ibm H$s X ÿgar ghr nwpñVH$m bo b|&{H$gr àH$ma H$s Ìw{Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l¥ §Ibm H$s X ÿgar ghr nwpñVH$m bo b|&{H$gr àH$ma H$s Ìw{Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l¥ §Ibm H$s X ÿgar ghr nwpñVH$m bo b|&{H$gr àH$ma H$s Ìw{Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l¥ §Ibm H$s X ÿgar ghr nwpñVH$m bo b|&

6. Bg n¥ð> Ho$ D$na {ZYm©[aV ñWmZ ‘| AnZm AZwH«$‘m§H$ Adí¶ {bI|& àíZ-nwpñVH$m na Am¡a Hw$N> Z {bI|&

7. àË¶oH$ àíZ Ho$ nm±M nm±M nm±M nm±M nm±M CÎma - (A), (B), (C), (D) Am¡a (E) H«$‘ na {X¶o J¶o h¢& CZ‘| go Amn g~go ghr Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$ CÎma H$mo MwZ| Am¡a
AnZo CÎma nÌH$ na A§{H$V H$a|& AmnH$m Hw$b àmám§H$ AmnHo$ Ûmam CÎma nÌH$ ‘| A§{H$V ghr CÎmam| na {Z^©a H$aoJm&

8. CÎma nÌH$ ‘| àË¶oH$ àíZ g§»¶m Ho$ gm‘Zo nm±Mnm±Mnm±Mnm±Mnm±M d¥Îm Bg àH$ma ~Zo hþE h¢ - A  , B  , C  , D  Am¡a  E & àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo
AnZr ngÝX Ho$ Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$ d¥Îm H$mo H$mbr/Zrbr ñ¶mhr Ho$ ~m°b-nm°BÝQ> noZ go {M{•V H$aZm h¡& àË¶oH$ àíZ Ho$ {bE Ho$db EH$ CÎma H$mo
MwZ| Am¡a Cgo AnZo CÎma nÌH$ ‘| {M{•V H$a|& Amn CÎma nÌH$ ‘| ¶{X EH$ àíZ Ho$ {bE EH$ go A{YH$ d¥Îm ‘| {ZemZ bJmVo h¢, Vmo AmnH$m
CÎma JbV ‘mZm Om¶oJm& CÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hr
à¶m oJ H$a | & {H$gr ^r àH$ma H$m H$mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | & {H$gr ^r àH$ma H$m H$mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | & {H$gr ^r àH$ma H$m H$mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | & {H$gr ^r àH$ma H$m H$mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | & {H$gr ^r àH$ma H$m H$mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &

9. ¶{X {H$gr àíZ ‘| {H$gr àH$ma H$s H$moB© ‘wÐU ¶m VÏ¶mË‘H$ àH$ma H$s Ìw{Q> hmo, Vmo àíZm| Ho$ A§J«oOr VWm {hÝXr ê$nmÝVam| ‘| go A§J«oOr
ê$nmÝVa H$mo ‘mZH$ ‘mZm Om¶oJm&

10. àíZ-nwpñVH$m go H$moB© nÞm ’$m‹S>Zm ¶m AbJ H$aZm ‘Zm h¡& àíZ-nwpñVH$m Am¡a CÎma nÌH$ H$mo narjm Ad{Y ‘| narjm ^dZ go ~mha H$Xm{n
Z bo Om¶|& narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|& CgHo$ ~mX AmnH$mo AnZr àíZ-nwpñVH$m AnZo gmW bo
OmZo H$s AZw‘{V h¡&

11. D$na Ho$ AZwXoem| ‘| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am¶moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h¡ AWdm AmnH$mo XÊS>
{X¶m Om gH$Vm h¡&

12. Aä¶Wu CÎma nÌH$ H$mo AnZr CnpñW{V ‘| Self Adhesive LDPE Bag ‘| nyar Vah go n¡H$/grb H$admZo Ho$ Cnam§V hr narjm H$j
H$mo N>mo ‹S> |&

Note : English version of the instructions is printed on the First Page of this Booklet.416




